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Question Number : 1 Question Id : 7532291213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the given words in the sequence in which they occur in the dictionary.

1. Nebulae
2. Nebbish
3. Nebulas
4. Naysaid
5. Neckers
Options :

1. % 42153
2. % 41235



3. ¥ 42135
4. % 41253

Question Number : 1 Question Id : 7532291213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Al Xrsal &I UsadI= | 3 aTd HH & TR ford |

1. Nebulae
2. Nebbish
3. Nebulas
4. Naysaid
5. Neckers

Options :

1. % 42153
2. % 41235
3. ¥ 42135
4. % 41253

Question Number : 2 Question Id : 7532291214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

KT31, GO22, CJ15, YE30, UZ47
Options :

1. ¥ GO22

2.¥ CJ15

3. * YE30

4. % Uz47

Question Number : 2 Question Id : 7532291214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T 3fIepd fear T 8, Fo s 9§t e 7Tad ¢ | fau 7 faswed § ¥ 39 7ad ue &1 gi-u|

KT31, GO22, CJ15, YE30, UZ47
Options :

1. % GO22

2.¥ CJ15

3. ®* YE30

4. % Uz47

Question Number : 3 Question Id : 7532291215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of () with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % FQ-DS
2. % 7ZX -XZ
3.% LT-JV

4. ¥ MZ -KA

Question Number : 3 Question Id : 7532291215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R RTTT Ty, TR 3eR T RUTT R () P T 3R 38 T 31aR () & It 3R o T 3reR | frdht adh fom/dey @ Tafia g1 =
I TH qh/Mga/AEY & YR IR 90 & | 3T T8 fawen & ¥ fawd &1 g

Options :

1. % FQ-DS

2. % ZX -XZ

3. % LT-JV

4. v MZ -KA



Question Number : 4 Question Id : 7532291216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

LI:O0G:VC:?
Options :
1. ®* YA
2. % XA
3.5 YZ
4. % X7

Question Number : 4 Question Id : 7532291216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRafeRad vy @ fau e famedl O @ Tefid sierl & gl

LI:0G:VC:?
Options :
1. % YA
2. % XA
3.5°YZ
4. % X7

Question Number : 5 Question Id : 7532291217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.
(ET, JO, OJ)

Options :
1. # (V],ZE, EZ)
2. % (NB, SW, XQ)



3. ¥ (MP, RK, WF)
4. % (GC,LX, RS)

Question Number : 5 Question Id : 7532291217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffaa uy & el &1 ue I4g e a1 8 | Ude THg & 3R I THE & 31eRl & wiy fryg ad/Haudey 3 gefia g1 fad e
fqemedl T 9 31&RI I Uh THE P! (T ol UM dob/FaH/ A BT IR0 Hcll B

(ET, JO, OJ)

Options :

1. ® (V], ZE, EZ)

2. % (NB, SW, XQ)

3. ¥ (MP, RK, WF)

4. % (GC,LX, RS)

Question Number : 6 Question Id : 7532291218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘AT—A’ is written as ‘20°, ‘OUT-CT’ is written as ‘33’. What is the code for ‘PAIR-ARC’ in that code language?
Options :

1. % 24

2.9 22

3. % 38

4. % 32

Question Number : 6 Question Id : 7532291218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfR1E Bls YW H, ‘AT-A* BT 20 FRGT AT &, “OUT-CT” BT “33° foRaT SITd 8| 59 BIS HIWT H ‘PAIR-ARC’ BT HIS T 52
Options :

1. = 24

2.9 22



3. % 38
4. % 32

Question Number : 7 Question Id : 7532291219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five girls G1, G2, G3, G4 and G5 like one flower among five different flowers F1, F2, F3, F4 and F5 (not necessarily in the same order). G1 and
G3 do not like F5. G2 likes F2. G5 likes F3. G3 does not like F1. Who likes F4?

Options :
1. * Gl
2.9 G3
3. % G4
4. % G5

Question Number : 7 Question Id : 7532291219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ord @sfbdl G1, G2, G3, G4 94T G5 UTd faf¥ & Bd F1, F2, F3, F4 TUTFS & § T Bd &I UG Bl & (SIes! gl 1 34 A A 8| G1
JUT G3 B F5 THC 181 81 G2 BT F2 TS 81 G5 B F3 TS g G3ﬁF1WET6°fI§’F4WWE%?

Options :

1. % Gl

2. ¢ G3

3. % G4

4. % G5

Question Number : 8 Question Id : 7532291220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven boys B1, B2, B3, B4, B5, B6 and B7 sit in a row facing towards the north (not necessarily in the same order). Three boys sit between B2
and B6. B1 sits to the immediate left of B4. B3 is not a neighbour of B7. B6 sits second to the left of B7. B4 is not a neighbour of B6. Who sits
second to the left of B5?

Options :
1. ¥ B3



2. % B7
3. % B2
4. % B4

Question Number : 8 Question Id : 7532291220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qTd TSP B1, B2, B3, B4, B5, B6 04T B7 Udh Ufad # IR ®1 3R TG HIP 98d & (SR -Tal B 341 HH U 8| B2 IUTB6 & dg A A
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Options :
1. ¥ B3
2. % B7
3. % B2
4. % B4

Question Number : 9 Question Id : 7532291221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight students P, Q, R, S, T, U, V and W scored different marks in an exam. Only two students scored marks between P and T. The marks of U
are less than the marks of W. The marks of P are more than the marks of U, but less than the marks of R. The marks of T are more than the marks
of V. The marks of only three students are less than the marks of T. The marks of S are less than the marks of V, but more than the marks of Q.
Which of the following statement is correct?

L. Only one student scored marks more than P.
II. The marks of U are more than the marks of T.
III. Q scored the lowest marks.

Options :

1. ¥ I, I and I1I
2. % Il and IIT
3. % Tand II

4. % Tand III



Question Number : 9 Question Id : 7532291221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MMBEBEP,Q,R, S, T, U, VAdT W A Tsh TRiefl H fafid 3ic Ut foeq| p duT T & o H Fad &l 81 A $id U fhu| U & 3 W & 3idh
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Options :

1. ¢ 1, 1 QYT III

2. % [ dYTIII

3% 19Ul

4, % 1dYT1II

Question Number : 10 Question Id : 7532291222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some D are Q.
II. No D is A.

Conclusions:
I. Some Q are not A.
II. Some A are not D.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusion I and II follows



4. % Neither conclusion follows

Question Number : 10 Question Id : 7532291222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T AU U Uy H 8 U 3R I 918 31 HUHI IR AUNRG & (5pY 3T T4 § 1 3T T H2= &1 981 aM, 918 S8 Qg 1 9
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Options :

1. % $Had [T5HY [ 3ITRV Hal &

2. % Had (SHY 11 SR Hal §

3. ¢ GFI FSBY 1 T 11 SR -d &
4. % g Wi Fepy SrERUr el BT @

Question Number : 11 Question Id : 7532291223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some A are B.
II. All B are D.
III. All B are C.

Conclusions:
I. Some A are C.



II. Some B are D.
III. Some C are D.

Options :

1. # Both conclusion I and II follows
2. # Both conclusion II and III follows
3. # Both conclusion I and III follows

4. % All conclusion follows

Question Number : 11 Question Id : 7532291223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy & 8 U 3R 3% 918 31 HUHI IR AUING & 56y 3T T4 § | 3T T 2 &1 981 A, 918 S8 Qg I 9
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Options :
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Question Number : 12 Question Id : 7532291224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By Interchanging which two signs the given equation will be correct?



25+20-4+6x3+4=44
Options :
1. #® + —
2. % x =+
3.% 4+, +
4. & — +

Question Number : 12 Question Id : 7532291224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o <t Fagl &1 STy H RO Fea- IR a1 a1 IHie T el g1 S

25+20-4+6x3+4=44
Options :
1. ® + —
2. % x =
3.% +, =
4. — -

Question Number : 13 Question Id : 7532291225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

160, 82, 43, 21.5, 13.75, 8.875
Options :

1. % 43

2.921.5

3. % 13.75

4. % 8.875

Question Number : 13 Question Id : 7532291225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3hd fear T 8, fored § U Ug Tad ¢ | 3T T fawed! & 9 39 7 ue &I gfu|

160, 82,43, 21.5, 13.75, 8.875
Options :

1. % 43

2.9 215

3. % 13.75

4, % 8875

Question Number : 14 Question Id : 7532291226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many water are not milk?

G-

Options :
1. % 16
2. % 45
3. % 37
4.+ 61

Question Number : 14 Question Id : 7532291226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

’&%A -

ol

Options :
1. % 16
2. % 45
3. % 37
4.+ 61

Question Number : 15 Question Id : 7532291227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

I. The total number of students is 132.
II. The number of women which are teachers is 28.



m Student
511 31 21 —Woman
[ 28 ,?

Teacher

Options :

1. % Only I

2. ¥ Only II

3. # BothIand II
4. ® Neither I nor I

Question Number : 15 Question Id : 7532291227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. ¥ Had Il

3. % [ UGl
4. % qIGIIATRIII

Question Number : 16 Question Id : 7532291228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After 5 pm, Tarun and Manish were talking to each other and they were standing facing each other. Shadow of Manish was to the left side of
Manish. In which direction Tarun was facing?

Options :
1. ¥ North
2. % South
3. # East
4, % West

Question Number : 16 Question Id : 7532291228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 3TRTG o §1G, TR0 U TATY Th gaR 9 d1d B X6 U qUTd TH gOR o 3 M TS I | TN B IRSTE 9P it 3R | a=o1
for fo=m &t SR < |1 UM

Options :
1. ¥ 3™
2. % &
3. % g

4. % gigy

Question Number : 17 Question Id : 7532291229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Raja started walking towards the north from point A and walked 50 metre and reached at point B. He
turned to the left and walked 50 metre and reached at point C. He turned to the left at an angle of 45
degree and walked 50~/2 metre and reached at point D. What is the distance between point A and D?
Options :

1. ®¥ 50 metre

2. % 75 metre

3. ¥ 100 metre

4. #® 150 metre

Question Number : 17 Question Id : 7532291229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e @ g A @ 3w & FR Fear 3ReT R qur 50 #ey T Fur g B X wgw
Ig AT 3 {7 FAT 50 HreX e g Rig C w wgw T 7w 9=t MR 45 B F wor
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Options :

1. % 50 HIex
2. % 75 HIR
3. ¢ 100 HIcR
4. % 150 Hiex

Question Number : 18 Question Id : 7532291230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the wrong figure from the given series.

DI



Options :
1. ¥ @
3. % :

@

Question Number : 18 Question Id : 7532291230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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e



Question Number : 19 Question Id : 7532291231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many quadrilaterals are there in the given figure?

‘H\-..____\\H

Options :
1. % 6
2. % 12
3.¥ 15
4. % 17

Question Number : 19 Question Id : 7532291231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

QT el # fora Tqye &2

‘\‘\“-..-“.“-.“-.

Options :
1. %6
2. % 12
3.¥ 15
4. % 17

Question Number : 20 Question Id : 7532291232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?

Options :




3.¢

Question Number : 20 Question Id : 7532291232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3.¢¥
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Edit Attended Group? :
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Group Marks :
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2
75322968
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Enable Mark as Answered Mark for Review and Clear Response : Yes



Sub-Section Number : 1
Sub-Section Id : 75322980
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532291233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Chapchar Kut” festival is celebrated in which state of India?
Options :

1. # Assam

2. % Nagaland

3. % Mizoram

4. % Manipur

Question Number : 21 Question Id : 7532291233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“FUAR Fe” AR YR & [ Iod H HA1GT ST 82
Options :

1. % 3HH

2. % AN

3. ¢ foeIRA

4. % HOQR

Question Number : 22 Question Id : 7532291234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of monument — state is correct?

I. Key Monastery — Himachal Pradesh
II. India Gate — Delhi

Options :
1. * Only I



2. % Only IT
3. % Both I and II
4, % Neither I nor I1

Question Number : 22 Question Id : 7532291234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR — g &1 e § Q o9 91 g 9el 82

1. ® T3 — f3Urd uex
11 f&ar e - fet
Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl

4. % 1B

Question Number : 23 Question Id : 7532291235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The (fixed) interest rate at which the Reserve Bank provides overnight liquidity to banks against the collateral of government and other approved
securities under the liquidity adjustment facility is called the

Options :

1. ¥ Repo Rate

2. % Reverse Repo Rate
3. % Bank Rate

4. % Cash Reserve Ratio

Question Number : 23 Question Id : 7532291235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. YR

2. % g R

3.8 PR

4. % Tl SRI&T Y srguTd

Question Number : 24 Question Id : 7532291236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct regarding gross fiscal deficit?

Options :

1. # Net borrowing at home — Borrowing from RBI + Borrowing from abroad
2. ¥ Net borrowing at home + Borrowing from RBI + Borrowing from abroad
3. # Net borrowing at home + Borrowing from RBI — Borrowing from abroad

4. # Net borrowing at home — Borrowing from RBI — Borrowing from abroad

Question Number : 24 Question Id : 7532291236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T d ASTH TN °1e & TeH # Fafafad & 9 o F a1 98l g2

Options :

1. % 90 ORI HUI UG - 3R, 1. 3115, I F501 Ug0T + fac=i o HU1 Ugul
2. ¢ 99 TR HUT TS + 3R, & 3ATS. T B TG + A= F BT 701
3. % a0 IR FHUT UG + 3R, &1, 3T, I F01 Ug0T - fac=il ¥ FH07 qg01
4. % 99T IR HUT UG - 3R, off. 3113, T F01 U0 - A<= | BT T80

Question Number : 25 Question Id : 7532291237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the atomic number of cobalt?



Options :
1. * 30
2. %29
3. % 28
4. 27

Question Number : 25 Question Id : 7532291237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIdTeE DI IRATY ST [ gicit g2
Options :

1. # 30

2.% 29

3. % 28

4.9 27

Question Number : 26 Question Id : 7532291238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At 25 degreeC in which of the following substance speed of sound is maximum?
Options :

1. ¥ Sea water

2. % Distilled water

3. % Ethanol

4. % Methanol

Question Number : 26 Question Id : 7532291238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

25 f&itc W Fafeiad @ A fd uard # e &1 71fd i gidt 82

Options :

1. ¢ g4I &



2. % 3RYd od
3. % A1
4. % HiATd

Question Number : 27 Question Id : 7532291239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Rate of evaporation increases with a increase in humidity.
II. Evaporation is a surface phenomenon.

Options :

1. % Only I

2.% Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 27 Question Id : 7532291239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad 7 9 & 91 By I8t 82

I. AT BT &R Tl H gfg & 1Y 9 5|
1. ITSHRUT Ueh g it uRge gl

Options :

1. % PHadl

2. ¥ Had Il

3. % [qUT el
4. % 1B

Question Number : 28 Question Id : 7532291240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Mount Kilimanjaro is located in

Options :

1. ¥ Tanzania

2. # Kazakhstan

3. % Kyrgyzstan

4. % Libya

Question Number : 28 Question Id : 7532291240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e fefomoRi . dfRAeR
Options :

1. ¢ deT

2. & DRI

3. % fofioRam

4. % ifean

Question Number : 29 Question Id : 7532291241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Palk strait separate India from

Options :

1. # China

2. ¥ Maldives

3. % Sri Lanka

4, % Myanmar

Question Number : 29 Question Id : 7532291241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UTeh STy YR Bl T 3 AT & |




Options :
1. % dH9
2. % TG
3. ¢ didiop1
4. % AR

Question Number : 30 Question Id : 7532291242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of soil — state is correct?

I. Laterite soil — Kerala
II. Black soil — Madhya Pradesh

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 30 Question Id : 7532291242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed & 9 geT - I &1 &9 91 g et /2

I. TeRTEE JaT - hdl
I1. STcll 7T - e U=
Options :

1. % PHadl
2. % Had Il
3. 1AUT ISl
4. % 1B




Question Number : 31 Question Id : 7532291243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year Viceroy Curzon partitioned Bengal?
Options :

1. % 1908

2. % 1905

3. % 1907

4. % 1910

Question Number : 31 Question Id : 7532291243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oy o o IR Fooi = SIS b faHToI fama T
Options :

1. % 1908

2. % 1905

3. % 1907

4. % 1910

Question Number : 32 Question Id : 7532291244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which dynasty ruled on Delhi just after Sayyid dynasty?
Options :

1. % Khalji Dynasty

2. % Tughluq Dynasty

3. ¥ Lodi Dynasty

4. % Rajput Dynasty

Question Number : 32 Question Id : 7532291244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

JI¢ 99 & i I1¢ feeai W g 921 &7 =g U
Options :

1. % Qe 9

2. % IS 90

A CIGE

4. % J6Yd I

Question Number : 33 Question Id : 7532291245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which pair of dynasty — related place is correct?

I. Pallava — Kanchipuram
II. Cholas — Uraiyur

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 33 Question Id : 7532291245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR - Efed RIM &1 DI 1 g a1 82

L. Ueid — hidqRY
11 9 — SGAR
Options :

1. % Bad |
2. % BHad 11
R AGLIIEGI




4. % ATEIIATSII

Question Number : 34 Question Id : 7532291246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In April 2021, who became the first Indian woman to get ‘Wild Innovator Award’?
Options :

1. ¥ Krithi Karanth

2. % Bhuri Bai

3. # Sonu Gandhi

4. ¥ Anshu Jamsenpa

Question Number : 34 Question Id : 7532291246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30d 2021 T, “TTSeE SHIdCR 3fdls’ U aTcl Ugall YR Afga & 2
Options :

1. ¢ Pid Hd

2. % IR

3. % G ieh

4. % R SEIT

Question Number : 35 Question Id : 7532291247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following has NOT been conferred ‘Padma Vibushan’ in 20217
Options :

1. # Shri Sinzo Abe

2. # Shri B.B. Lal

3. % Shri Narinder Singh Kapany

4. % Shri Nripendra Misra



Question Number : 35 Question Id : 7532291247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad & 9 fore 2021 T uar fayEor & gwtd =781 fosan T g2
Options :

1. % & RISl 3ral

2. % et

3. * 4t AR Rig wurit

4.« &t g foen

Question Number : 36 Question Id : 7532291248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In July 2021, the Delhi government has partnered with which of the following company to access real-time information about buses?
Options :

1. % Facebook

2. ¥ Google

3. ¥ Amazon

4. % Markit

Question Number : 36 Question Id : 7532291248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 2021 H, fAwll TRHR A 991 & aRafdd T B STHGR] T HRA & fore Fafafad & @ forg dut & ary yrfiet &t g2
Options :

1. % khygdh

2. ¥ I

3. % QAN

4. % e



Question Number : 37 Question Id : 7532291249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related with manner of election of President?
Options :

1. # Article 63

2. % Article 49

3. ¥ Article 55

4. % Article 59

Question Number : 37 Question Id : 7532291249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TfaeT o1 S A1 srfese Iyufa & Fafas ot Sfa 8 geifta &
Options :

1. % 3G 63

2. % 3G 49

3. ¢ TG 55

4. % 3G 59

Question Number : 38 Question Id : 7532291250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a part of Union list?

L. Post Office Saving Bank
II. Corporation Tax

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II



Question Number : 38 Question Id : 7532291250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad & @ &9 919U Yt &1 T YT 81 82

1. STHUR IId db

1. R R
Options :

1. % Had 1

2. % Had Il

3. [ QYT ISl
4. % GBI

Question Number : 39 Question Id : 7532291251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Headquarters of International Cricket Council is situated in
Options :

1. # London

2. ¥ Dubai

3. ¥ Melbourne

4. ® Cape Town

Question Number : 39 Question Id : 7532291251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR frbec uRvedT eI H iR 3
Options :

1. % ged

2. ¥ go%

3. % OddH



4. % HY ST

Question Number : 40 Question Id : 7532291252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arjun Kalyan has become 68th Grandmaster of India. He is from state.
Options :

1. % Karnataka

2. % Tamil Nadu

3. % Kerala

4. % Andhra Pradesh

Question Number : 40 Question Id : 7532291252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FAHRAH 68 d IS ARR T GITE_ JTI A g
Options :

1. ® Hlcd

2. ¥ AteArg

3. % A

4. % Y YI

Arithmetic Ability

Group Number : 3

Group Id : 75322969
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0



Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 75322969
Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 75322981
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532291253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

/9 %2 8N 4
(34
If 4 27 9
Options :

1.¥ -2

2. %2

3.%3

4. % 3

, then what is the value of x?

Question Number : 41 Question Id : 7532291253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



afg [;]h x[%]:g g, Ol x BT A R 52

4. % 3

Question Number : 42 Question Id : 7532291254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the smallest value that must be added to 562, so that the resulting number is a perfect square?
Options :

1. * 10

2. % 12

3. 14

4. % 13

Question Number : 42 Question Id : 7532291254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

562 T DI I T BICT I Sie! ST AT, difds URomHt T teh quf avf g1
Options :

1. * 10

2. % 12

3. 14

4. % 13

Question Number : 43 Question Id : 7532291255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If 1967A2 is completely divisible by 8, then which of the following can be the value of A?
Options :

1. %0

2.¥ 1

3.%3

4. % 4

Question Number : 43 Question Id : 7532291255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 1967A2, 8 ¥ QUid: fquTsa &, af FEfaRad & 9§ A &1 0 &1 81 9&dl 62
Options : )

1.*0

2.¥ 1

3.% 3

4. % 4

Question Number : 44 Question Id : 7532291256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Product of three consecutive odd numbers is 3315. What is the smallest number among these three numbers?
Options :

1. ¥ 13

2. % 11

3. % 15

4. % 17

Question Number : 44 Question Id : 7532291256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I SHARTA fauH sl &1 OHmE 3315 § 1 39 diF1 sl § O Jad SI! U1 & 4 82

Options :




1.+ 13
2.% 11
3. % 15
4. % 17

Question Number : 45 Question Id : 7532291257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many times the keys of a typewriter have to be pressed in order to write numbers from 109 to 1339?
Options :

1. % 4008

2. % 4029

3. %4033

4. % 4037

Question Number : 45 Question Id : 7532291257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

109 F 1339 T ! WA o & AU Th TRURIZER & FeA! D foha-T IR G SE?
Options :

1. # 4008

2. % 4029

3. % 4033

4. % 4037

Question Number : 46 Question Id : 7532291258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of 17 numbers is 48. If we add a number ‘B’ in each number, then the average becomes 52. What is the value of B?
Options :

1. %3

2.9 4



3.%6
4, %7

Question Number : 46 Question Id : 7532291258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

17 GET3TT BT 3T 48 B 1 Ul §H U T-T § Ueh T ‘B’ Bl Wil &d §, oY 3 52 81 ST 8 | B &1 HIH &1 22
Options :

1. %3

2.9 4

3.%6

4, % 7

Question Number : 47 Question Id : 7532291259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If P is 15 percent less than Q, then Q is how much percentage more than P?
Options :

1. # 16.64 percent

2. % 15.46 percent

3. % 17.64 percent

4. % 18.44 percent

Question Number : 47 Question Id : 7532291259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe p, Q¥ 15 U1 HH &, A Q, P ¥ fava=11 Ufci=rdl oifereh g2
Options :

1. % 16.64 U=

2. % 1546 Ufa=Id

3. ¥ 17.64 Ufd=Id



4. % 1844 Ufaerd

Question Number : 48 Question Id : 7532291260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an exam, a student got 60 less marks than the passing marks. He got 60 marks. If the passing percentage is 40 percent, then what is the
maximum marks of the exam?

Options :
1. #* 100
2. % 240
3. ¥ 300
4. % 270

Question Number : 48 Question Id : 7532291260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TR H, T B 1 S0 g1H & [T A 3! I 60 HH 3 U gU I 3 60 3 U gu| afg Sitof (anim) ufa=rd 40 wia=rd
&, O TRI& & SHfehan 3ich ol g2

Options :

1. #* 100

2. % 240

3. ¥ 300

4. % 270

Question Number : 49 Question Id : 7532291261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A trader sells a mobile at the profit of 20 percent. Had he bought that mobile at 20 percent less price and sold it at Rs. 50 less, then he would have
earned a profit of 40 percent. What is the initial cost price of the mobile?

Options :
1. ¥ Rs. 550
2. % Rs. 700



3. #® Rs. 775
4. ¥ Rs. 625

Question Number : 49 Question Id : 7532291261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP UK} U AIE8d B 20 UA<d & A4 TR 991 81 fe 98 39 AaTd oI 20 YA HH Jed TR WG 94T 50 $Ud HH J o=d, <l
I 40 A= HT Y BIdT | FERA BT SRS Ha Jed 1 62

Options :

1. % 550 3090
2. % 700 304
3. % 775 %09
4. v 625300

Question Number : 50 Question Id : 7532291262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ifa:b:c=2:3:5, then what is the value of (a+ b +c¢) : (2a+b—c¢)?
Options :

1. % 3:2

2.%6:1

3.5 1

4, % 5:3

Question Number : 50 Question Id : 7532291262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
q%a:b:c=2:3:5%,?‘?[(a+b+c):(2a+b—c)$TIIT:fEP3IT%?
Options :

1. % 3:2

2.%6:1



3.¢5:1
4, %5:3

Question Number : 51 Question Id : 7532291263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mixture of milk and water in three bottles of equal capacity is in the ratio 2 : 3,2 : 1 and 3 : 2 respectively. These three bottles are emptied into a
large bottle. What is the percentage of milk in the new mixture?

Options :

1. # 35.55 percent
2. % 44.44 percent
3. % 55.55 percent
4. # 65.55 percent

Question Number : 51 Question Id : 7532291263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TE &A1 D1 SIdal H g TUT U 3 R80T T SRUTd SR 2: 3,22 1 AUT3 : 2 81§ A Sidall & U de alad | WTat & fedT
ST € | 73 Toreror o g 1 Ui=id o g2

Options :

1. % 35.55 Ufard

2. % 44 44 Yfa=rd

3. ¥ 55.55 Ofa=rd

4. % 65.55 Ufaerd

Question Number : 52 Question Id : 7532291264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 400 becomes Rs. 440 at a rate of simple interest in 2 years. In how many years will the sum of Rs. 700 amounts to Rs. 840 at the
same rate of simple interest?

Options :
1. # 2 years



2. % 3 years
3. ¥ 4 years

4. # 5 years

Question Number : 52 Question Id : 7532291264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
éﬁqﬁﬁwwzaﬁﬁwwmmMowﬁ@aﬁ%lWa&‘fﬁmowﬁﬁ@mmmﬁwaﬁsmmﬁ
o

Options :

1. %29y

2. %399

3./ 479

4.% 599

Question Number : 53 Question Id : 7532291265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bus travels for 7 hours at the speed of 50 km/hr. A train travels 130 km more than the bus in 1 hour more. What is the speed of the train?
Options :

1. ¥ 60 km/hr

2. % 70 km/hr

3. % 65 km/hr

4. % 75 km/hr

Question Number : 53 Question Id : 7532291265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 99 50 foo 7Y /dier 1 fa ¥ 7 9 U R 31 Uep YS! 1 °e s H 99 130 fob 7. 31T am et g 1 YS! ol i o 82

Options :
1. ¢ 60 fob Hit eicT



2. % 70 b #t /xier
3. % 65 foo A /ier
4. % 75 foo WY /et

Question Number : 54 Question Id : 7532291266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bike travels 2/3 part of its total journey at its usual speed. The remaining distance is covered by bike at 1/3 speed of its usual speed. Due to
slow speed it reaches its destination 110 minutes late. If the total distance is 330 km, then what is the usual speed of bike?

Options :

1. # 110 km/hr
2. % 90 km/hr
3. % 120 km/hr
4. #® 150 km/hr

Question Number : 54 Question Id : 7532291266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SIS U Sl AT BT 2/3 HIT WA T T Bl 81 520 §3 X1 I13eh GRT IYD! YW il b 1/3 Tt I 77 b1 Sifcit & | et
T1fd & HROT I 3T Tded RIM W 110 e 31 38 J g 71 afe Fa gt 330 b . 8, O 156 &t I 7ifd s 82

Options :

1. % 110 fop 4t /et
2. % 90 fob 1 /der
3.« 120 foo 4t /e
4. % 150 fob. 1 /et

Question Number : 55 Question Id : 7532291267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To complete a wall, A alone takes 20 percent more time than B alone. If together they complete the wall in 20 days, then how much time will B
alone take to complete it?

Options :



1. * 154/5 days
2. * 155/7 days
3. % 110/3 days
4. * 157/8 days

Question Number : 55 Question Id : 7532291267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP IR B R HRA & TT A T, B 3faal F 20 Ua=Td e T ol g1 afe fFiadR d SaR &1 20 fii7 § W R &, A1 B 3hd 39
R A T fobd=1 g0 e
Options :

1. % 154/5 faq
2. % 155/7faq
3.¢ 1103 fem
4. % 157/8 feq

Question Number : 56 Question Id : 7532291268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Side of a square is 15 cm less than the half of perimeter of this square. What is the area of the square?
Options :

1. % 900 cm?

2. ¥ 225 cm?

3. % 450 cm?

4. % 625 cm?

Question Number : 56 Question Id : 7532291268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I 1 Yol 59 7 & URATT & 319 15 A/, A G| a1 HT &A% o1 82

Options :



1. % 900 9.1 2
2. ¢ 225 A2
3. % 450 9112
4. % 62592

Question Number : 57 Question Id : 7532291269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Length of a cuboid is 10 cm more than its breadth and 5 cm more than its height. If breadth of this cuboid is 15 cm, then volume of cuboid is
7500 cm’.

II. Radius of a hemisphere is 21 cm. Volume of this hemisphere is 38808 cm?.
Options :

1. % Only I

2. % Only II

3. % Both I and II

4. # Neither I nor 11

Question Number : 57 Question Id : 7532291269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 By I8 82

I.W?uaﬁaaﬁ,%ﬁ?ﬂé@r 10 3.7, 3ifdp B duT S § 5 A1t 31 |1 afe 3q o b1 S8 15 AL, B, A IATH BT 3TIA 7500
qH3 B
1. T 3T &1 fBsam 21 T 81 39 31efd &1 3= 38808 A3 B

Options :

1. Had I
2. % Had Il
3. % [ QYT gHl
4. % GBI



Question Number : 58 Question Id : 7532291270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the production of 8 factories. Total production of all these 8 factories are 40000. The production of a particular
factory is shown as a percentage of total production of all these 8 factories.

7% 10% Fl

8%

Which of the following statement is correct?

I. The total sum of production of factory F1 and F8 is 12000.
II. The average production of factory F3 and F4 are 5000.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 58 Question Id : 7532291270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

r fean o 9 faat 8 Wfaedl & Iare &I gxifdr g1 37 Gt 8 Tl &1 Fa Iare 40000 7 1 T fARIS Hhad & e &1 37 Tt 8
Wigedl & $d IdTe & Ua<d & U H a1 T g |



fFofefed & ¥ o9 91 By I8 82

I. F1 QT F8 Tha! & 3G &1 Hdl INT 12000 B |
1. F3 TUT F4 Thac] 1 37d I 5000 8|
Options :

1. % Had 1
2. % Had Il
3. % [ UGl
4. TBIIATR I

Question Number : 59 Question Id : 7532291271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of persons visiting two places in different years.



700
600
500
350
300
200
200 -
Yl Y2 ¥3

Y4 Y5
OPl mP2

What is the difference between number of persons visiting place P1 and P2 in year Y4?
Options :
1. % 100
2. % 500
3. % 400
4. ¥ 200

Question Number : 59 Question Id : 7532291271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 e mar gue fom faftrer ouf & € Rl IR O aTel safaadl B ST &) SIfd 2|
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Options :
1. % 100
2. % 500
3. % 400
4.9 200

Question Number : 60 Question Id : 7532291272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line graph given below shows the number of students appeared and failed in an examination in different years.
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Passed = Appeared — Failed
P1 = Average number of passed students per year

P2 = Average number of failed students per year
What is the value of P1/P2?

Options :

1. % 31/33
2.9 33/35
3. % 35/37
4. % 37/39

Question Number : 60 Question Id : 7532291272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

,

1. % 31/33
2.9 33/35
3. % 35/37
4. % 37/39
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Group Number : 4
Group Id : 75322970
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
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Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

General English
Section Id : 75322970
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 75322982
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7532291273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

No sooner had I (1)/ reached there than (2)/she had left the house (3)/. No error (4)
Options :

1. %1

2.% 2

3.3

4. % 4

Question Number : 61 Question Id : 7532291273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



No sooner had I (1)/ reached there than (2)/she had left the house (3)/. No error (4)
Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 62 Question Id : 7532291274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Large toothed whales, such as (1)/ sperm whales, feed in large prey (2)/occasionally including the fabled giant squid (3)/.No error (4)
Options :

1. % 1

2.9 2

3.%3

4. % 4

Question Number : 62 Question Id : 7532291274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Large toothed whales, such as (1)/ sperm whales, feed in large prey (2)/occasionally including the fabled giant squid (3)/.No error (4)
Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 63 Question Id : 7532291275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Hardly had he finished then it became bright.
Options :

1. % there

2. % when

3. % if

4. ¥ No improvement

Question Number : 63 Question Id : 7532291275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Hardly had he finished then it became bright.
Options :

1. # there

2. ¥ when

3. % if

4. ¥ No improvement

Question Number : 64 Question Id : 7532291276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

She tried to dissembling her sorrow with modesty.
Options :
1. # dissembling her sorrowful

2. # dissembling his sorrow



3. % dissemble her sorrow

4. ¥ No improvement

Question Number : 64 Question Id : 7532291276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

She tried to dissembling her sorrow with modesty.

Options :

1. % dissembling her sorrowful
2. # dissembling his sorrow

3. % dissemble her sorrow

4. % No improvement

Question Number : 65 Question Id : 7532291277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

After going in a huge debt he was completely
Options :

1. # rant

2. ¥ hopeless

3. % upbeat

4. % vivid

Question Number : 65 Question Id : 7532291277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.



After going in a huge debt he was completely
Options :

1. % rant

2. ¥ hopeless

3. % upbeat

4. % vivid

Question Number : 66 Question Id : 7532291278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Before I entered the theatre, she left with her mother.
Options :

1. # have

2. ¥ had

3. % has

4. * that

Question Number : 66 Question Id : 7532291278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Before I entered the theatre, she left with her mother.

Options :
1. * have
2. % had
3. * has

4. % that

Question Number : 67 Question Id : 7532291279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: artist or historical period

Q: a specialty of Paris is the staging of

R: large and lavishly mounted exhibitions,
S: usually retrospectives of an individual

Options :

1. ¥ QRSP
2. % QPSR
3. % SRQP
4. % RQPS

Question Number : 67 Question Id : 7532291279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: artist or historical period

Q: a specialty of Paris is the staging of

R: large and lavishly mounted exhibitions,
S: usually retrospectives of an individual

Options :

1. ¥ QRSP
2. % QPSR
3. % SRQP
4. % RQPS

Question Number : 68 Question Id : 7532291280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: in a room that receives natural light
Q: the Siberian hamster, or Dzhungarian hamster, often sold as



R: the “winter white,” will change from a silvery chinchilla
S: shade to mostly white if it is kept

Options :

1. # PQSR
2. ¥ QRSP
3. ¥ SQRP
4. % PSQR

Question Number : 68 Question Id : 7532291280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: in a room that receives natural light

Q: the Siberian hamster, or Dzhungarian hamster, often sold as
R: the “winter white,” will change from a silvery chinchilla

S: shade to mostly white if it is kept

Options :

1. # PQSR
2. ¥ QRSP
3. ¥ SQRP
4. % PSQR

Question Number : 69 Question Id : 7532291281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Virtue
Options :

1. # Truism
2. % Intent
3. % Expanse
4. ¥ Probity



Question Number : 69 Question Id : 7532291281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Virtue
Options :

1. # Truism
2. # Intent
3. % Expanse
4. ¥ Probity

Question Number : 70 Question Id : 7532291282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Amnesty
Options :

1. # Exculpation
2. % Immunity
3. % Castigation
4. # Vendetta

Question Number : 70 Question Id : 7532291282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Amnesty
Options :

1. # Exculpation



2. % Immunity
3. % Castigation
4. ® Vendetta

Question Number : 71 Question Id : 7532291283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Ckataclysm

2. # Cataclism

3. % Cataclysm

4. % Cataeclism

Question Number : 71 Question Id : 7532291283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Ckataclysm

2. % Cataclism

3. ¥ Cataclysm

4. % Cataeclism

Question Number : 72 Question Id : 7532291284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Occult

2. % Oocult

3. % Ocult



4. # Okailt

Question Number : 72 Question Id : 7532291284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Occult

2. % Oocult

3. % Ocult

4. # Okailt

Question Number : 73 Question Id : 7532291285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Dead ringer

Options :

1. ¥ Similar in appearance

2. % To return book to the library
3. % Last date to return something

4. ®* To manage accounts

Question Number : 73 Question Id : 7532291285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Dead ringer

Options :

1. ¥ Similar in appearance

2. % To return book to the library



3. % Last date to return something

4. ®* To manage accounts

Question Number : 74 Question Id : 7532291286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To dot one’s 1’s and cross one’s t’s
Options :

1. # To submit a thesis

2. % To accept punishment

3. # To rake up a rebellion

4. ¥ To pay attention to minute details of a task

Question Number : 74 Question Id : 7532291286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To dot one’s i’s and cross one’s t’s
Options :

1. % To submit a thesis

2. % To accept punishment

3. # To rake up a rebellion

4. ¥ To pay attention to minute details of a task

Question Number : 75 Question Id : 7532291287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A unit ordering a person to appear in court



Options :

1. * Jury

2. ¥ Subpoena
3. #* Courtship
4. % (Capias

Question Number : 75 Question Id : 7532291287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A unit ordering a person to appear in court
Options :

1. * Jury

2. ¥ Subpoena

3. * Courtship

4. % (Capias

Sub-Section Number : 2
Sub-Section Id : 75322983
Question Shuffling Allowed : Yes

Question Id : 7532291288 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

There are thousands of kinds of cheese, each with its own colour, shape, nutritional value, flavour and texture.

Since cheese is made from milk, cheese types tend to vary based on the source of milk. Some of the most popular cheeses are made from the milk
of cows, goats and sheep. But there are also cheeses made from camel milk, water buffalo milk — even moose milk.

To make cheese, you need to add bacteria to the milk. These create chemical reactions that cause it to change into a combination of solid “curds”
and liquid “whey.” The whey is generally drained off, concentrated and dried into a powder.

Swiss cheese have holes, also called “eyes,” they’re so essential to Swiss cheese that when they’re missing, the cheesemakers say the batch is
“blind.” What makes Swiss cheese “holey” is additional bacteria called Propionibacterium freudenrichii subspecies shermanii — P. shermanii for
short. Under the specific conditions that Swiss cheese is made, the P. shermanii produce a gas: carbon dioxide.

Because Swiss cheese is made at a warm temperature — around 70 degrees Fahrenheit — the cheese is soft and malleable. So as the bacteria grow,



the gases they emit end up creating round openings. Think of blowing a bubble with chewing gum: As you blow air from your lungs, the pressure
forces the gum into a circle. The bubble eventually pops, due to air pressure from your lungs or the atmosphere.

But when a bubble has formed inside a hunk of warm cheese — and then that cheese is cooled to around 40 degreeF — the hole stays in place. The
cheese now has its eyes.

It takes about four weeks at 70 degree F for the eyes to form. In total, it takes about six weeks to make Swiss cheese, and then it is aged two
additional months before it is sold.

Sub questions

Question Number : 76 Question Id : 7532291289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. # What are the benefits of Swiss cheese?

2. % Why we should eat Swiss cheese?

3. % Why does Swiss cheese have holes?

4. ¥ Why Swiss cheese is costly?

Question Number : 77 Question Id : 7532291290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following source of milk is NOT mentioned in the passage?
Options :

1. # Moose milk

2. % Cow milk

3. % Goat Milk

4. ¥ Horse milk

Question Number : 78 Question Id : 7532291291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct synonym of the word ‘hunk’ as per the context?
Options :

1. % Pity



2. % Slab
3. # Senile
4. % Stud

Question Number : 79 Question Id : 7532291292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the given passage, what is the prerequisite to make Swiss cheese?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. An additional bacteria

2. Carbon dioxide gas

3. Cold temperature

4. Source of milk

Question Number : 80 Question Id : 7532291293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true as per the given passage?

Options :

1. # To produce hole in the Swiss cheese, it is necessary to leave it in cold environment.
2. ¥ The openings of the hole are elliptical in shape.

3. # Swiss cheese gains softness in the warm temperature.

4. % Tt takes about 6 weeks to make Swiss cheese.

Question Id : 7532291288 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

There are thousands of kinds of cheese, each with its own colour, shape, nutritional value, flavour and texture.



Since cheese is made from milk, cheese types tend to vary based on the source of milk. Some of the most popular cheeses are made from the milk
of cows, goats and sheep. But there are also cheeses made from camel milk, water buffalo milk — even moose milk.

To make cheese, you need to add bacteria to the milk. These create chemical reactions that cause it to change into a combination of solid “curds”
and liquid “whey.” The whey is generally drained off, concentrated and dried into a powder.

Swiss cheese have holes, also called “eyes,” they’re so essential to Swiss cheese that when they’re missing, the cheesemakers say the batch is
“blind.” What makes Swiss cheese “holey” is additional bacteria called Propionibacterium freudenrichii subspecies shermanii — P. shermanii for
short. Under the specific conditions that Swiss cheese is made, the P. shermanii produce a gas: carbon dioxide.

Because Swiss cheese is made at a warm temperature — around 70 degrees Fahrenheit — the cheese is soft and malleable. So as the bacteria grow,
the gases they emit end up creating round openings. Think of blowing a bubble with chewing gum: As you blow air from your lungs, the pressure
forces the gum into a circle. The bubble eventually pops, due to air pressure from your lungs or the atmosphere.

But when a bubble has formed inside a hunk of warm cheese — and then that cheese is cooled to around 40 degreeF — the hole stays in place. The
cheese now has its eyes.

It takes about four weeks at 70 degree F for the eyes to form. In total, it takes about six weeks to make Swiss cheese, and then it is aged two
additional months before it is sold.

Sub questions

Question Number : 76 Question Id : 7532291289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. # What are the benefits of Swiss cheese?

2. % Why we should eat Swiss cheese?

3. % Why does Swiss cheese have holes?

4. ¥ Why Swiss cheese is costly?

Question Number : 77 Question Id : 7532291290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following source of milk is NOT mentioned in the passage?
Options :

1. # Moose milk

2. % Cow milk

3. % Goat Milk

4. ¥ Horse milk



Question Number : 78 Question Id : 7532291291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct synonym of the word ‘hunk’ as per the context?
Options :

1. # Pity

2. % Slab

3. # Senile

4. # Stud

Question Number : 79 Question Id : 7532291292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the given passage, what is the prerequisite to make Swiss cheese?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. An additional bacteria

2. Carbon dioxide gas

3. Cold temperature

4. Source of milk

Question Number : 80 Question Id : 7532291293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true as per the given passage?

Options :

1. # To produce hole in the Swiss cheese, it is necessary to leave it in cold environment.
2. % The openings of the hole are elliptical in shape.

3. # Swiss cheese gains softness in the warm temperature.

4. % Tt takes about 6 weeks to make Swiss cheese.
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Question Number : 81 Question Id : 7532291294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 77T g o1 T 1 BT



dgahl

Options :

1. % Hfgdaras I
2. ¢ STfdardds I

3. % Y[gardd I3

4. % UG I3

Question Number : 81 Question Id : 7532291294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QT TTU Yeg 1 AT I IS

gl

Options :

1. % fqddrad I3l
2. ¢ SIfdTdd G
3. % YTqdrad I3
4. % gUgdrad Il

Question Number : 82 Question Id : 7532291295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 5D
2. % g
3. % fie

4. % yg




Question Number : 82 Question Id : 7532291295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad are & sifAfgd fa=or rd Sifsre
$6 Hd WD 8 7R YW fie T2

Options :
1. ¥ 99
2. % gl

3. % fife
4. % Y9

Question Number : 83 Question Id : 7532291296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T a1eR H Taeeiesh 30y Hd Hifeig |

TRI&T ¥ Ugd Gd Ugl|
Options :

1. % Uef

2. %9

3. % gl

4. ¢ Ugd

Question Number : 83 Question Id : 7532291296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT T aTeRr § Heyaieeh 3oy JTd Hifere |

TRI&T W Ugd e Uel|

Options :

1. % Tem



2. % 9
3. % Ugl
4. Ugd

Question Number : 84 Question Id : 7532291297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T 77U aTe T IUGe Weg BT 99 I Rad RIM HI il BT

TR AT Re F EA g
Options :
1. ¥ QR
2. % ofy
3.0y
4. % Ib

Question Number : 84 Question Id : 7532291297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T a1 & IUYe eg &1 T B Nad RIM P il B
TR Re & FAd g

Options :
1. ¢ &I
2. % qroft
3.% Y
4. % IH

Question Number : 85 Question Id : 7532291298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 1T Toc g 1 el WWsg i 1T BT
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Options :

1. % @d - GH

2. % YgRI: d

3. ¢ URIRTA S ; TN
4. % TGN : GERI

Question Number : 85 Question Id : 7532291298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 71U <req i H1 T XWsa FH I DI

3{dal : 3dYld
Options :

1. % q¥d . &

2. % ggRT: Xd

3. « URIRId S - HAART
4. % TGN : GERI

Question Number : 86 Question Id : 7532291299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prafifed Ise &1 yafgard 98 8, 31d S|
|

Options :
1. % 34
2. % Y-
3. ¢ Glgl

4. % HY



Question Number : 86 Question Id : 7532291299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prafifed Ise &1 yafgard 98 2, 31d S|
|

Options :
1. % 34
2. % Y-
3. ¥ GleY

4. % HY

Question Number : 87 Question Id : 7532291300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fa T wrsal A Y I &1 99A P
Options :

1. # faRER

2. ¢ PR

3. ® QIRTPR

4. % fRBR

Question Number : 87 Question Id : 7532291300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 77U <rec] H G I BT 99 DI
Options :

1. % faRepR

2. ¢ fIRWR

3. % QIRPR

4. % f{OR



Question Number : 88 Question Id : 7532291301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feU U 919 &7 =0 J1d HitoT|

39 IR IEHCRIRISIH
Options :

1. % Hqard

2. % DHHITH

3. ¢ HIddIg

4. % AHGgdry

Question Number : 88 Question Id : 7532291301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feQ U gTa &7 I JTd HIfT |

I QM 8] S 71 STl
Options :

1. % Hqard

2. % HUATH

3. ¢ Y[gareg

4, % 3gdrAH

Question Number : 89 Question Id : 7532291302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad arel & ¥ Sgad are I1d BT
Options :

1. ® Hifg gg-feradx sieamiueT a9 Tt
2. Wil UgH-forelt 3R Sreantiept o+t |




3. % gic Aifg-t Ugd! dl 98 ST o Sl |
4. % HIfg Ut o T4t

Question Number : 89 Question Id : 7532291302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad gt # | Jge ares J1d B
Options :

1. % Mg Ug-feraadx 1t 94 it

2. A u)-fordt 3R 3reamfuesT 9+t |

3. % gfc Aifg-N Ugd! df 98 eTUHT & Sfe |
4. % TG e o Tt

Question Number : 90 Question Id : 7532291303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferied areril ® | s arery 1 BT

Options :

1. ¥ gfc 39 IR 991 A g5 df IR Had A 81 S|
2. % gy A g U IR e Y Bl S|

3. % gui 8] g% SR ORI B A8 81 T

4. % 9o 6] g3 3o Hud Y 8 Tl

Question Number : 90 Question Id : 7532291303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad aredi # 9§ &y a1e J1d Hiferu

Options :

1. ¢ Tfe 39 IR 9uf A1 g8 ol IR} B AP g1 S|
2. % g A g Y IR By Y B S|

3. % gu g1 g8 3R IR B % 8l T |



4. % g9 T8I g8 S Hod A8 gl Tt

Question Number : 91 Question Id : 7532291304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofeed aredl # 9 Tged are J1d Sifer|
Options :

1. % gfc el g3 ol §H BNIDIT fa<d S|
2. v et g8 O ot g9 givasiT 1t

3. % o9 QRyaT ol o 5 e srag ST
4. % AT B & & BB Srawd S|

Question Number : 91 Question Id : 7532291304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad aredl & 3 Tgad ared 91 S|
Options :

1. % gfe Fieal g8 dl g1 gD Sa=d J4|
2. ¥ Qg g8 U ot g9 g 76T |

3. % 9 gfedl giifl dd g1 gNIH I 3=y SId |
4. % A1 gId 31 H SITH T 3aRg W14 |

Question Number : 92 Question Id : 7532291305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U 9Ty & Iuged form fag &1 o pifor|
I Tl BISHR dalt dl Ta! Siafift st

Options :
1. %2

2. B ow»



3.9 .
4. % []

Question Number : 92 Question Id : 7532291305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T are T Iuged favm forg &1 994 Fifor|
qH T BISHR Tl dl Ta! Smei? sral

Options :
1. %2
2. 2-'\-5 (T34

3.9 .
4. % []

Question Number : 93 Question Id : 7532291306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T are T Iuged favm forg &1 =994 Fifor|

qTE T raR T 5|
Options :
1. % ;

2 2-'\5 (T34

3.% ..

4.9

Question Number : 93 Question Id : 7532291306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T are T Iuged favm forg &1 994 Fifor|



qTE RN YR TG
Options :
1. ¥ ;

2. Wow»
3. % .

4.

Question Number : 94 Question Id : 7532291307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou U aR fawedl 8§ 9, 39 fawed &1 99 o S faU 0 GgTak & 3l &1 9a98 T ¥ ad Rl 5|
0§ &I §R 16T

Options :

1. # gHER e T B B Tohdl &

2. ¥ RHE & e 1 g ot siazgewar gt 8
3. % RHA P forg ft Yezar smaas §

4. % Pae Yo e & T PRA §

Question Number : 94 Question Id : 7532291307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu U IR fawedl & 9, 39 faded o1 9o 3 o1 3T 70 JeTer & 31 &1 Jd9§ U ¥ oJad Hral o |
U9 B gR I11RY

Options :

1. % BFER fdd R BT HR JHd §

2. ¢ RHE & a8 f g Pt saxgendl gidl §
3. % PP P forg Hft Yazdr mawas §

4. % Had Yo Afad g1 U8 Hd §




Question Number : 95 Question Id : 7532291308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawedl & 9, 39 faded o7 9o 3 ot fT 7T gerer & 31 &1 a9y U I oJad HRal g |
Jd® = GISHT

Options :

1. % gg=iia g

2. % 3Rde i g

3. % YIgd gl

4. ¢ I~ HAR gad gl

Question Number : 95 Question Id : 7532291308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou 70 aR fawedl 6 9, 39 fawed &1 999 o S faU 0 GgTak & 3 &1 a98 T ¥ oad Rl 5|
PREZENIEET

Options :

1. % Gg-I=ie g

2. % 3rded A g

3. % YIgh gl

4. ¢ I HSR gad gl

Sub-Section Number : 2

Sub-Section Id : 75322985
Question Shuffling Allowed : Yes

Question Id : 7532291309 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TS T o T | IR O STYR WR Ui Uy T 7Y € | I &1 e9gdeh U aul Udid Uy H aR fawedl § 9 Tel fawed g |
A4 IR § FAYd PR €, SHH1 ST a3 & o Ul AFRS Hfdd g1 778 & ot Siig & forg Aa SifieR agd



TP 5| fay o ST <=1 & T ISR AfGUM GRT U™ U T 51 THARCT $ex-=Md A4 SIRBRI &1 vef o forg fay wr o
YT B aTell SIRIPTT T &, forrehT geurerd dia- H fUd 61 71 SHfUdR SaURUN &1 S8 H1th! GIHI 6, R 39! add
SAYRUT IR faygs & faeay & dTe fIbRid gs1 WRd H IFH AHATRIBR SR 1 76+ 23 fawwaR 1993 H fobar 1 39 g0y rawfd
gd 91t SIRCY TIUd & 39 31ea8l § 10 fETraR 1948 B U AP TU D1 HERIHT A HIH SHIBR B AraHIHeb 9T B WIHR X
form Tra SfIBRI &1 ifard U § wHIIe SiftrerRY @ gf aaraes Aforat & fauford farar mar 81 3 AriRes 3R Ieifae SfIER €|
RIS HIFT SHEBR ST o SHicRed HRA & 29 H Y 23 4! H A HUBRI & ATHeH b1 GAATS & (o0 Iy A SHIYDR 1T b
T3 {1 71 € IS Safad &l oi- &1 SfdfHied SfYGR g | AFAIUHR 9 fYGR § Sl 39 J& R UdS Afad &l Had A g &
Qgﬂﬁ%ﬂw@%ﬁv%ﬁ%wﬂmﬁm?ﬂ il A AFaRieR 3R Wdsdl &1 f3aR 3if&ia # 3 | Ul i bl
[dddd WdAdI g |

Sub questions

Question Number : 96 Question Id : 7532291310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H AP AAAIIBR 61 T8 B fobar ur2
Options :

1. ¢ 23 fdTFR 1993

2. % 10 fGUmR 1948

3. % 23 fGwaR 1948

4. % 10 fGTmR 1993

Question Number : 97 Question Id : 7532291311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ST 1 v ¥ R e serfgia e
Options :

1. ¢ THAK] SR

2. % 3¢ ¢ STHMERH

3. % SfRIPH faobra Ty

4, % QYIS YIS TANT

Question Number : 98 Question Id : 7532291312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Ha BRI &1 fdhat samaes Af0r # sier T/ g2
Options :

1. % IR

2.3

3. % O

4. % dH

Question Number : 99 Question Id : 7532291313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS HRAT 1 AT Pl (U 87
Options :

1. % 3MHRBI

2. % T

3. ¢ A

4. % DI

Question Number : 100 Question Id : 7532291314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U TIRT 1 IUgad XMW T gRTT?
Options :

1. % SIRIT SR

2. % gd JrgHfd

3. % JoTdde AHTPR

4. A9 AHYBR

Question Id : 7532291309 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)



T TTRIIRT ST T § | IR & TR WR U WY U 7T § | T=I7R1 1 saMYdes Ug U1 U Uy H R fadwed! & 4 Tg! fadwed g1

A4 IBHR § FAYd PR €, fSHH1 ST 31 & o Ul ArR® Hfdd g1 778 & ot Siig & forg Aa SifireR agd
3TaRTH & | fay & Siiemi=r o= H F SR Wfae™ gRI UaH ft T §1 THARE Sex-=Md A4 SHIGRI &1 3eqm & forg fay R o
AT B a1l SIRIPTT TR &, o1 e e H (T 61 7114 SHfUSR SaURUN &1 Sfaer STt RAT 6, |R 39! adHH
SAYRUT IR fAYG b ey o dTa [GHRid g51 HRA H IS AMATIDBR SN T 76 23 [G8FR 1993 H a1 11 39 JHY Arawfd
7d A SR T G 3D S & 10 [STER 1948 D1 GG Y HY P! HGRIHT = A SHUBR 1 A HIMHS GIv0n B WIHR B
feram Ara iRl @1 sifard wu & g IfISHRY &t <1 g Ao | faviford forar mar 81 3 i SR Ierifae SifieR g |
ST {1 SHYBR SR & SHfcRed HRA & 29 H 23 I8! H A USRI & HIH B1 GAdTs & o0 Iy Ad SHUBR 1T B
734 o a1 § Ude cafad &l S 1 sfaf-iied SfeR g1 AFaIieR 3 SifieR g o 39 J2dl IR Ude dfad &) had AT 814 &
ggﬁlﬁ?ﬁﬁﬁ?ﬁ%ﬁ%ﬂﬁﬁ&ﬂ%l Tt ¥ AHAER SR Tdd &1 [daR $ifdd & 8 | Td® fad &l
Idqo WdAdI g |

Sub questions

Question Number : 96 Question Id : 7532291310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd H IS AFAIUBR BT 76 b fbam Ur?
Options :

1. ¢ 23 faTrR 1993

2. % 10 fqUmR 1948

3. % 23 fGUwaR 1948

4. % 10 fOTR 1993

Question Number : 97 Question Id : 7532291311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H1a SRR 1 & 3 Ry 1. sfeRii T &
Options :

1. ¢ THAR] $eRA

2. % 3¢ T STHTHIA

3. % SRIPIY fabry Ty

4. % QYIS YIS TANT




Question Number : 98 Question Id : 7532291312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g SABRI &1 fbd-! e AR § sieT a1 52
Options :

1. % IR

2.3

3. % U

4. % dH

Question Number : 99 Question Id : 7532291313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STRTSTa ST o1 gReTerd el U 2
Options :

1. % 3HRBI

2. % T

3. ¢ A

4. % PR

Question Number : 100 Question Id : 7532291314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUYad TRIRT T Iugad e 1 g
Options :

2. % g4 [

3. ® oI DR

4. ¢ {4 ISR
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Question Number : 101 Question Id : 7532291315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

He snatched the (1)/ letter from her and looking (2)/ for the signature. (3)/ No error (4)
Options :
1. %1



2.¥2
3. %3
4. % 4

Question Number : 101 Question Id : 7532291315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

He snatched the (1)/ letter from her and looking (2)/ for the signature. (3)/ No error (4)
Options :

1. # 1

2.2

3.%3

4. % 4

Question Number : 102 Question Id : 7532291316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

While the month that (1)/ Esther was touring solo in the Pyrenees, (2)/ we still talked every day. (3)/ No error (4)
Options :

1.9 1

2.% 2

3.%3

4. % 4

Question Number : 102 Question Id : 7532291316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



While the month that (1)/ Esther was touring solo in the Pyrenees, (2)/ we still talked every day. (3)/ No error (4)
Options :

1.9 1

2.% 2

3.%3

4. % 4

Question Number : 103 Question Id : 7532291317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Neither ground or sky (1)/ was visible during the (2)/ entire one-hour flight to Baltimore. (3)/ No error (4)
Options :

1.9 1

2. % 2

3.%3

4. % 4

Question Number : 103 Question Id : 7532291317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Neither ground or sky (1)/ was visible during the (2)/ entire one-hour flight to Baltimore. (3)/ No error (4)
Options :

1.¥1

2.% 2

3.% 3

4. % 4

Question Number : 104 Question Id : 7532291318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Exposure to drugs (1)/ not only effect the (2)/ fish themselves, but their offspring also (3)/ No error (4)
Options :

1. # 1

2.9 )

3.%3

4. % 4

Question Number : 104 Question Id : 7532291318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Exposure to drugs (1)/ not only effect the (2)/ fish themselves, but their offspring also (3)/ No error (4)
Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 105 Question Id : 7532291319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Most economic and political (1)/ resources are concentrated (2)/ in the southern region of US. (3)/ No error (4)
Options :

1. # 1

2.% 2

3.3

4. % 4



Question Number : 105 Question Id : 7532291319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Most economic and political (1)/ resources are concentrated (2)/ in the southern region of US. (3)/ No error (4)
Options :

1. #* 1

2. % 2

3.9 3

4. % 4

Question Number : 106 Question Id : 7532291320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Whenever [ have needed something, (1)/ members of my extended family has (2)/ always stepped in to provide it. (3)/ No error (4)
Options :

1. %1

2.9 2

3.% 3

4, % 4

Question Number : 106 Question Id : 7532291320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Whenever I have needed something, (1)/ members of my extended family has (2)/ always stepped in to provide it. (3)/ No error (4)
Options :
1. %1



2.¥2
3. %3
4. % 4

Question Number : 107 Question Id : 7532291321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

He had passed (1)/ his life pursue crime (2)/ and in protecting the weak. (3)/ No error (4)
Options :

1. % 1

2.9 2

3.%3

4. % 4

Question Number : 107 Question Id : 7532291321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

He had passed (1)/ his life pursue crime (2)/ and in protecting the weak. (3)/ No error (4)
Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 108 Question Id : 7532291322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



We embarked on these car (1)/ projects with grandiose visions, many (2)/ as unrealistic such they were ingenious. (3)/ No error (4)
Options :

1. %1

2.% 2

3.3

4. % 4

Question Number : 108 Question Id : 7532291322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

We embarked on these car (1)/ projects with grandiose visions, many (2)/ as unrealistic such they were ingenious. (3)/ No error (4)
Options :

1. % 1

2.% 2

3.9 3

4, % 4

Question Number : 109 Question Id : 7532291323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Making and to get rid of (1)/ excess food accounts for (2)/ around 8-10 precent of greenhouse gas emissions. (3)/ No error (4)
Options :

1.¥ 1

2. %2

3.%3

4. % 4

Question Number : 109 Question Id : 7532291323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Making and to get rid of (1)/ excess food accounts for (2)/ around 8-10 precent of greenhouse gas emissions. (3)/ No error (4)
Options :

1.9 1

2. % 2

3.%3

4. % 4

Question Number : 110 Question Id : 7532291324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I never considered myself among (1) /the most beautiful girl or in any way (2)/ a perfect candidate for a beauty pageant.(3)/ No error (4)
Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 110 Question Id : 7532291324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I never considered myself among (1) /the most beautiful girl or in any way (2)/ a perfect candidate for a beauty pageant.(3)/ No error (4)
Options :

1. % 1

2.9 2

3.%3

4. % 4



Question Number : 111 Question Id : 7532291325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

It was already the beginning (1)/ of July when on her return (2)/ journey she drove into the alpine forest. (3)/ No error (4)
Options :

1. #* 1

2. % 2

3.% 3

4. ¥ 4

Question Number : 111 Question Id : 7532291325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

It was already the beginning (1)/ of July when on her return (2)/ journey she drove into the alpine forest. (3)/ No error (4)
Options :

1. %1

2.% 2

3.% 3

4. ¥ 4

Question Number : 112 Question Id : 7532291326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The revenue generated from mobile (1)/ ads is substantial and will being becoming (2)/ the bread and butter for many businesses. (3)/ No error
4

Options :

1. %1



2.2
3. %3
4. % 4

Question Number : 112 Question Id : 7532291326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The revenue generated from mobile (1)/ ads is substantial and will being becoming (2)/ the bread and butter for many businesses. (3)/ No error
4

Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 113 Question Id : 7532291327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Big companies asked us for making our puddings cheaper.
Options :

1. ¥ have asked us to make

2. % asking us make

3. # ask us in making

4. ¥ No improvement

Question Number : 113 Question Id : 7532291327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Big companies asked us for making our puddings cheaper.
Options :

1. ¥ have asked us to make

2. % asking us make

3. #* ask us in making

4. % No improvement

Question Number : 114 Question Id : 7532291328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

She found the goat and her new born kid exact where she expected them.
Options :

1. # where she expect
2. # where exact she expected
3. % exactly where she expected

4. ¥ No improvement

Question Number : 114 Question Id : 7532291328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

She found the goat and her new born kid exact where she expected them.

Options :
1. # where she expect
2. # where exact she expected

3. ¥ exactly where she expected



4. ¥ No improvement

Question Number : 115 Question Id : 7532291329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Messages and videos circulating in bulk did in past incited mob violence in India.
Options :

1. % did in past incite
2. ¥ have in the past incited
3. #* had in past incited

4. ¥ No improvement

Question Number : 115 Question Id : 7532291329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Messages and videos circulating in bulk did in past incited mob violence in India.
Options :

1. # did in past incite
2. ¥ have in the past incited
3. #* had in past incited

4. ¥ No improvement

Question Number : 116 Question Id : 7532291330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.



Soldiers and emergency service workers have been deployed in Germany to help with the search and rescue.
Options :

1. ® for helping with the search
2. % to help with the searching
3. # helping in the search

4. ¥ No improvement

Question Number : 116 Question Id : 7532291330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Soldiers and emergency service workers have been deployed in Germany to help with the search and rescue.
Options :

1. # for helping with the search

2. # to help with the searching

3. # helping in the search

4. ¥ No improvement

Question Number : 117 Question Id : 7532291331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

There are tactics leaders can use for making surity more introverted employees can continue to contribute.
Options :

1. ¥ can use to make sure more

2. % could use to make surity more

3. # can use for making sure much

4. ¥ No improvement



Question Number : 117 Question Id : 7532291331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

There are tactics leaders can use for making surity more introverted employees can continue to contribute.
Options :

1. ¥ can use to make sure more
2. % could use to make surity more
3. # can use for making sure much

4. ¥ No improvement

Question Number : 118 Question Id : 7532291332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Long gone are the days when customs and excise boats patrolled the coast with the aim to prevent and catching smugglers.

Options :

1. # to the aim of preventing and to catch

2. ¥ with the aim of preventing and catching
3. % with the aim for prevention and to catch

4. ¥ No improvement

Question Number : 118 Question Id : 7532291332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Long gone are the days when customs and excise boats patrolled the coast with the aim to prevent and catching smugglers.




Options :

1. # to the aim of preventing and to catch

2. ¥ with the aim of preventing and catching
3. # with the aim for prevention and to catch

4. ¥ No improvement

Question Number : 119 Question Id : 7532291333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Studies say redirecting our focus from our own problems to help anothers could do wonders for our mental health.

Options :

1. # to helping others could do wonders to
2. ¥ to helping others can do wonders for
3. # to help one another can do wonders in

4. % No improvement

Question Number : 119 Question Id : 7532291333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Studies say redirecting our focus from our own problems to help anothers could do wonders for our mental health.
Options :

1. # to helping others could do wonders to

2. ¥ to helping others can do wonders for

3. # to help one another can do wonders in

4. ¥ No improvement

Question Number : 120 Question Id : 7532291334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Despite of being a brighter student, I left college in my third year to pursue my dream.
Options :

1. # In spite been a brighter
2. ¥ Despite being a bright
3. # Despite of being a bright

4. ¥ No improvement

Question Number : 120 Question Id : 7532291334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Despite of being a brighter student, I left college in my third year to pursue my dream.

Options :

1. #* In spite been a brighter
2. ¥ Despite being a bright

3. # Despite of being a bright

4. % No improvement
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Question Number : 121 Question Id : 7532291335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

The room was silent for minutes after they left.
Options :

1. * fewer

2. ¥ afew

3. % the little

4. = little

Question Number : 121 Question Id : 7532291335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

The room was silent for minutes after they left.
Options :

1. % fewer

2. ¥ afew

3. # the little

4. * little

Question Number : 122 Question Id : 7532291336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

He turned back to his father, was watching him with interest.
Options :

1. # that

2. # which

3. % who

4, % whom

Question Number : 122 Question Id : 7532291336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

He turned back to his father, was watching him with interest.
Options :

1. # that

2. # which

3. % who

4, % whom



Question Number : 123 Question Id : 7532291337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

Plastic is the common type of debris floating in the world’s oceans.
Options :

1. * much

2. % very

3. * few

4. ¥ most

Question Number : 123 Question Id : 7532291337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

Plastic is the common type of debris floating in the world’s oceans.
Options :

1. * much

2. * very

3. * few

4. ¥ most

Question Number : 124 Question Id : 7532291338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

It is important to know or not elephants are present in protected areas.
Options :
1. # either

2. % while



3. # rather

4. ¥ whether

Question Number : 124 Question Id : 7532291338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

It is important to know or not elephants are present in protected areas.
Options :

1. # either

2. % while

3. * rather

4, % whether

Question Number : 125 Question Id : 7532291339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

They talked over the affairs of the house exactly if they were equals.
Options :

1. ¥ as

2. % s0

3. ® such

4. % for

Question Number : 125 Question Id : 7532291339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

They talked over the affairs of the house exactly if they were equals.



Options :
1. ¥ as
2. % 50
3. % such

4. % for

Question Number : 126 Question Id : 7532291340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

That pleased smile was his lips again and his eyes held a glint humour.

Options :

1. #® in, for

2. % on, of

3. % through, off

4. # across, for

Question Number : 126 Question Id : 7532291340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

That pleased smile was his lips again and his eyes held a glint humour.

Options :

1. #* in, for

2. % on, of

3. % through, off

4. % across, for

Question Number : 127 Question Id : 7532291341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

He was called by the judge to bring forth the treasures of the church which had been committed his keeping.
Options :

1. # off, on

2. # for, upon

3. % upon, to

4. ® over, for

Question Number : 127 Question Id : 7532291341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

He was called by the judge to bring forth the treasures of the church which had been committed his keeping.
Options :

1. # off, on

2. % for, upon

3. ¥ upon, to

4. % over, for

Question Number : 128 Question Id : 7532291342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

Everyone agrees the need to reduce the amount of energy used and carbon emitted  our homes.
Options :

1. ® of, on

2. % for, in

3. ¥ on, from

4. ® 100, in



Question Number : 128 Question Id : 7532291342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

Everyone agrees the need to reduce the amount of energy used and carbon emitted  our homes.
Options :

1. # of on

2. # for, in

3. ¥ on, from

4. ® 100, in

Question Number : 129 Question Id : 7532291343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate verbs from the given options to fill in the blanks and complete the sentence.

When it came night and they their supper, they would crowd around the open fire and coax Jennie to them stories.

Options :

1. ¥ had, tell

2. * have had, told
3. % had, say

4. ® have, tell

Question Number : 129 Question Id : 7532291343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate verbs from the given options to fill in the blanks and complete the sentence.

When it came night and they their supper, they would crowd around the open fire and coax Jennie to them stories.
Options :
1. % had, tell

2. % have had, told



3. % had, say
4. # have, tell

Question Number : 130 Question Id : 7532291344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate verbs from the given options to fill in the blanks and complete the sentence.

He seventy-five thousand acres of land whenhe ~~ much younger.
Options :

1. # has bought, was

2. ¥ bought, was

3. * had bought, were

4. % did buy, have been

Question Number : 130 Question Id : 7532291344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate verbs from the given options to fill in the blanks and complete the sentence.

He seventy-five thousand acres of land when he  much younger.
Options :

1. * has bought, was

2. ¥ bought, was

3. #* had bought, were

4. % did buy, have been

Question Number : 131 Question Id : 7532291345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

Selection of soups and salads are at the café for those who want lunch.



Options :

1. ¥ available, healthier
2. # redundant, lightest

3. ¥ mandatory, maximum

4. ® secondary, fulfil

Question Number : 131 Question Id : 7532291345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

Selection of soups and salads are at the café for those who want lunch.

Options :

1. ¥ available, healthier

2. # redundant, lightest

3. % mandatory, maximum

4. ¥ secondary, fulfil

Question Number : 132 Question Id : 7532291346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

We had a very walk, despite getting lost in Birch woods.
Options :

1. # lovely, quiet

2. ¥ enjoyable, rather

3. # tranquil, very

4. % cynical, caught

Question Number : 132 Question Id : 7532291346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

We had a very walk, despite getting lost in Birch woods.
Options :

1. # lovely, quiet

2. ¥ enjoyable, rather

3. % tranquil, very

4. # cynical, caught

Question Number : 133 Question Id : 7532291347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

There is certainly no of big and tall golf shirts available in the men's fashion world
Options :

1. # stimulation, forever

2. #* multitude, ever

3. # impunity, now

4. ¥ dearth, today

Question Number : 133 Question Id : 7532291347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

There is certainly no of big and tall golf shirts available in the men's fashion world
Options :

1. #* stimulation, forever

2. % multitude, ever

3. # impunity, now

4. ¥ dearth, today



Question Number : 134 Question Id : 7532291348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

Philosophical are divided between those who approach issues by starting with principles.
Options :

1. # deception, sonorous

2. # recognition, random

3. ¥ ethics, absolute

4. # clemency, sober

Question Number : 134 Question Id : 7532291348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

Philosophical are divided between those who approach issues by starting with principles.

Options :

1. # deception, sonorous
2. # recognition, random
3. ¥ cthics, absolute

4. # clemency, sober

Question Number : 135 Question Id : 7532291349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) They need to

(i1) Clear the air

(iii) About the inheritance issue,
(1iv) But that isn't enough.



Options :

1. % (ii), (iii) and (iv)

2. % (ii) and (iv)

3. ¥ (i), (ii), (iii) and (iv)
4. # (ii) and (iii)

Question Number : 135 Question Id : 7532291349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) They need to

(i1) Clear the air

(ii1) About the inheritance issue,
(iv) But that isn't enough.

Options :

1. % (ii), (iii) and (iv)

2. % (ii) and (iv)

3. ¥ (i), (ii), (iii) and (iv)
4. % (ii) and (iii)

Question Number : 136 Question Id : 7532291350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) There is a thing in

(i1) the middle of your

(ii1) Howling Desert with an
(iv) Longer neck and long legs.
Options :

1. % (ii) and (iv)



2. % Only (iii)
3. % (i) and (ii)
4. % Only (i)

Question Number : 136 Question Id : 7532291350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) There is a thing in

(i1) the middle of your

(ii1) Howling Desert with an
(iv) Longer neck and long legs.

Options :

1. # (ii) and (iv)
2. % Only (iii)
3. % (i) and (ii)
4. % Only (i)

Question Number : 137 Question Id : 7532291351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) The man had taken

(i1) A step or two across

(111) The glass roof before he notices
(iv) The presence of a strangers.

Options :

1. # Only (iii)
2. % (i) and (iv)
3. 9 (i) and (ii)



4. % Only (iv)

Question Number : 137 Question Id : 7532291351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) The man had taken

(i1) A step or two across

(ii1) The glass roof before he notices
(1iv) The presence of a strangers.

Options :

1. # Only (iii)

2. % (i) and (iv)
3. % (i) and (ii)
4. % Only (iv)

Question Number : 138 Question Id : 7532291352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) Contraction of the heart muscle

(i1) Generated a force, cause pressure to

(111) Rising in your blood vessels, which drive
(iv) The flow of blood around your body.

Options :

1. # (i) and (iv)

2. % (i) and (iii)

3. % (ii) and (iv)

4. % (i), (ii) and (iii)



Question Number : 138 Question Id : 7532291352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) Contraction of the heart muscle

(i1) Generated a force, cause pressure to

(i11) Rising in your blood vessels, which drive
(iv) The flow of blood around your body.

Options :

1. % (i) and (iv)

2. % (i) and (iii)

3. % (ii) and (iv)

4. ® (i), (ii) and (iii)

Question Number : 139 Question Id : 7532291353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. # Samay did not wanted to believe that one of his sons betrayed the rest of the Council.
2. % Samay had not wanted to believe one of his son betraying the rest of the Council.

3. ¥ Samay had not wanted to believe that one of his sons betrayed the rest of the Council.

4. ® Samay has not wanted to believe that one of his sons betray the rest of the Council.

Question Number : 139 Question Id : 7532291353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. # Samay did not wanted to believe that one of his sons betrayed the rest of the Council.

2. % Samay had not wanted to believe one of his son betraying the rest of the Council.



3. % Samay had not wanted to believe that one of his sons betrayed the rest of the Council.

4. # Samay has not wanted to believe that one of his sons betray the rest of the Council.

Question Number : 140 Question Id : 7532291354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. ¥ He did not lose sight either of the welfare of his army or of the doings of the enemy.
2. ® He did not lose sight either of the welfare of his army and of the doings of the enemy.
3. # He did not lost sight either of the welfare of his army or the doings of the enemy.

4. ® He did not loose sight of either the welfare of his army or of the doing of the enemy.

Question Number : 140 Question Id : 7532291354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. ¢ He did not lose sight either of the welfare of his army or of the doings of the enemy.
2. % He did not lose sight either of the welfare of his army and of the doings of the enemy.
3. % He did not lost sight either of the welfare of his army or the doings of the enemy.

4. ® He did not loose sight of either the welfare of his army or of the doing of the enemy.
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Question Number : 141 Question Id : 7532291355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. #® Allen living at times when botany was a popular scientific subject for women in higher social classes.

2. % Allen lived at a time when botany have been a popular scientific subject for woman in highest social classes.
3. % Allen lived at a time when botany was a popular scientific subject for women in the higher social classes.

4. % Allen lived at time while botany was a popularly scientific subject for women in higher social classes.

Question Number : 141 Question Id : 7532291355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence from the given options that conforms to Standard English Usage.
Options :



1. # Allen living at times when botany was a popular scientific subject for women in higher social classes.
2. % Allen lived at a time when botany have been a popular scientific subject for woman in highest social classes.
3. % Allen lived at a time when botany was a popular scientific subject for women in the higher social classes.

4. % Allen lived at time while botany was a popularly scientific subject for women in higher social classes.

Question Number : 142 Question Id : 7532291356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. ¥ Mr Miller stresses that cutting demand for sand needs to be seen as part of a wider effort to reduce overconsumption of natural resources.

2. % Mr Miller stresses that cutting demand for sand needed to being seen as part of a wider effort to reduce overconsumption of natural
resources.

3. % Mr Miller stressed that cutting demand for sand needs to be seen as part of widest effort to reducing overconsumption of natural resources.

4. % Mr Miller had stressed that demand cutting for sand needful to be seen as part of wide effort to reducing overconsumption of natural
resources.

Question Number : 142 Question Id : 7532291356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. ¥ Mr Miller stresses that cutting demand for sand needs to be seen as part of a wider effort to reduce overconsumption of natural resources.

2. % Mr Miller stresses that cutting demand for sand needed to being seen as part of a wider effort to reduce overconsumption of natural
resources.

3. ® Mr Miller stressed that cutting demand for sand needs to be seen as part of widest effort to reducing overconsumption of natural resources.

4. % Mr Miller had stressed that demand cutting for sand needful to be seen as part of wide effort to reducing overconsumption of natural
resources.

Question Number : 143 Question Id : 7532291357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence from the given options that conforms to Standard English Usage.



Options :

1. ® My ongoing research indicated that advertising practitioners is to become much aware that the imagery they used could have an effect in
society.

2. ¥ My ongoing research indicates that advertising practitioners are becoming more aware that the imagery they use can have an effect on
society.

3. # My ongoing research indicated that advertising practitioners is becoming more aware that the imagery they use can have an affect on
society.

4. ® My ongoing research indicates that advertising practitioners are to become most aware that the imagery they use could have an effect in
society.

Question Number : 143 Question Id : 7532291357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. ® My ongoing research indicated that advertising practitioners is to become much aware that the imagery they used could have an effect in
society.

2. ¥ My ongoing research indicates that advertising practitioners are becoming more aware that the imagery they use can have an effect on
society.

3. # My ongoing research indicated that advertising practitioners is becoming more aware that the imagery they use can have an affect on
society.

4. % My ongoing research indicates that advertising practitioners are to become most aware that the imagery they use could have an effect in
society.

Question Number : 144 Question Id : 7532291358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Jhanvi wears a yellow dress on Thursday.
Options :
1. # A yellow dress was worn by Jhanvi on Thursday.

2. ¥ A yellow dress is worn by Jhanvi on Thursday.



3. % On Thursday a yellow dress is being worn by Jhanvi.

4. % On Thursday Jhanvi wears a yellow dress.

Question Number : 144 Question Id : 7532291358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Jhanvi wears a yellow dress on Thursday.

Options :

1. ® A yellow dress was worn by Jhanvi on Thursday.

2. ¥ A yellow dress is worn by Jhanvi on Thursday.

3. #® On Thursday a yellow dress is being worn by Jhanvi.

4. ® On Thursday Jhanvi wears a yellow dress.

Question Number : 145 Question Id : 7532291359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

The worker has refused to work at midnight.

Options :

1. ¥ To work at midnight had been refused by the worker.
2. ¥ Working at midnight is refused by the worker.

3. % To work at midnight has been refused by the worker.
4. % Working at midnight was being refused by the worker.

Question Number : 145 Question Id : 7532291359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best



expresses the same sentence in Passive/Active voice.

The worker has refused to work at midnight.

Options :

1. ¥ To work at midnight had been refused by the worker.
2. ¥ Working at midnight is refused by the worker.

3. ¥ To work at midnight has been refused by the worker.
4. % Working at midnight was being refused by the worker.

Question Number : 146 Question Id : 7532291360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Divya is decorating a room for her brother’s birthday.

Options :

1. ® For her brother’s birthday a room was being decorated by Divya.
2. % A room has been decorated by Divya for her brother’s birthday.
3. # For her brother’s birthday a room had been decorated by Divya.
4. ¥ A room is being decorated by Divya for her brother’s birthday.

Question Number : 146 Question Id : 7532291360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Divya is decorating a room for her brother’s birthday.

Options :

1. # For her brother’s birthday a room was being decorated by Divya.
2. % A room has been decorated by Divya for her brother’s birthday.
3. % For her brother’s birthday a room had been decorated by Divya.
4. ¥ A room is being decorated by Divya for her brother’s birthday.



Question Number : 147 Question Id : 7532291361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

My mother welcomed my friends at our farmhouse.

Options :

1. ¥ My friends were welcomed by my mother at our farmhouse.

2. ¥ My friends have been welcomed by my mother at our farmhouse.
3. % My friends had been welcomed by my mother at our farmhouse.

4. ® My friends are welcomed at our farmhouse by my mother.

Question Number : 147 Question Id : 7532291361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

My mother welcomed my friends at our farmhouse.

Options :

1. ¥ My friends were welcomed by my mother at our farmhouse.

2. % My friends have been welcomed by my mother at our farmhouse.
3. # My friends had been welcomed by my mother at our farmhouse.

4. ® My friends are welcomed at our farmhouse by my mother.

Question Number : 148 Question Id : 7532291362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

I am supposed to give a speech in the evening.



Options :

1. #® A speech in the evening will be given by me.

2. % A speech is been supposed to be given by me in the evening.
3. ¥ A speech is supposed to be given by me in the evening.

4. ® Tt is supposed that a speech would be given by me.

Question Number : 148 Question Id : 7532291362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

I am supposed to give a speech in the evening.

Options :

1. # A speech in the evening will be given by me.

2. % A speech is been supposed to be given by me in the evening.
3. % A speech is supposed to be given by me in the evening.

4. # Tt is supposed that a speech would be given by me.

Question Number : 149 Question Id : 7532291363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Have you verified all the bank details?

Options :

1. ® Were all the bank details been verified by you?

2. % Have all the bank details been verified by you?

3. # Did all the bank details have been verified by you?
4. % Has all the bank details being verified by you?

Question Number : 149 Question Id : 7532291363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Have you verified all the bank details?

Options :

1. #® Were all the bank details been verified by you?

2. % Have all the bank details been verified by you?

3. # Did all the bank details have been verified by you?
4. ® Has all the bank details being verified by you?

Question Number : 150 Question Id : 7532291364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

She said, “I cannot eat chocolates daily.”

Options :

1. # She said that she cannot eat chocolates daily.

2. # She says that she could not eat chocolates daily.
3. ¥ She said that she could not eat chocolates daily.
4. % She told she cannot eat chocolates daily.

Question Number : 150 Question Id : 7532291364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

She said, “I cannot eat chocolates daily.”
Options :
1. # She said that she cannot eat chocolates daily.



2. # She says that she could not eat chocolates daily.
3.+ She said that she could not eat chocolates daily.
4. % She told she cannot eat chocolates daily.

Question Number : 151 Question Id : 7532291365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

They said, “We were asking a rhetorical question.”

Options :

1. ¥ They said that they had been asking a rhetorical question.
2. % They said that they were asking a rhetorical question.

3. # They told that they have been asking a rhetorical question
4. ® They say that them asking rhetorical question.

Question Number : 151 Question Id : 7532291365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

They said, “We were asking a rhetorical question.”

Options :

1. ¥ They said that they had been asking a rhetorical question.
2. # They said that they were asking a rhetorical question.

3. % They told that they have been asking a rhetorical question
4. ® They say that them asking rhetorical question.

Question Number : 152 Question Id : 7532291366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

My teacher said, “I want to talk more about this issue.”

Options :

1. # My teacher said that she has wanted to talk more about that issue.
2. # My teacher said she wants to talk more about that issue.

3. # My teacher told to me that she wanted to talk more about this issue.

4. ¥ My teacher said that she wanted to talk more about that issue.

Question Number : 152 Question Id : 7532291366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

My teacher said, “I want to talk more about this issue.”

Options :

1. ¥ My teacher said that she has wanted to talk more about that issue.
2. % My teacher said she wants to talk more about that issue.

3. # My teacher told to me that she wanted to talk more about this issue.

4. ¥ My teacher said that she wanted to talk more about that issue.

Question Number : 153 Question Id : 7532291367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The author said that the past cannot be changed.

Options :

1. # The author said to me, “The past could not change”
2. % The author says, “The past could not be changed.”
3. # The author said, “The past will not be changed.”



4. ¥ The author said, “The past cannot be changed.”

Question Number : 153 Question Id : 7532291367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The author said that the past cannot be changed.

Options :

1. ® The author said to me, “The past could not change”
2. % The author says, “The past could not be changed.”
3. ® The author said, “The past will not be changed.”

4. ¥ The author said, “The past cannot be changed.”

Question Number : 154 Question Id : 7532291368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

Fatima said. “What are we planning for tomorrow?”

Options :

1. # Fatima asked that what we have been planning for the next day.
2. % Fatima told that what we were planning for the next day

3. ¢ Fatima asked what we were planning for the next day.

4. ® Fatima asked what we have been planning for tomorrow.

Question Number : 154 Question Id : 7532291368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.



Fatima said. “What are we planning for tomorrow?”

Options :

1. #® Fatima asked that what we have been planning for the next day.
2. # Fatima told that what we were planning for the next day

3. ¥ Fatima asked what we were planning for the next day.

4. ® Fatima asked what we have been planning for tomorrow.

Question Number : 155 Question Id : 7532291369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

“Will you forgive your sister for all the mistakes?”, Mr. Jones said to his son.
Options :

1. # Mr. Jones was asking his son if he will forgive his sister for all the mistakes.
2. % Mr. Jones asked his son that if he will forgive his sister for all the mistakes.
3. % Mr. Jones asked his son if he would forgive his sister for all the mistakes.

4. % Mr. Jones said to his son if he would be forgiving his sister for all the mistakes.

Question Number : 155 Question Id : 7532291369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

“Will you forgive your sister for all the mistakes?”, Mr. Jones said to his son.
Options :

1. #® Mr. Jones was asking his son if he will forgive his sister for all the mistakes.
2. % Mr. Jones asked his son that if he will forgive his sister for all the mistakes.
3. % Mr. Jones asked his son if he would forgive his sister for all the mistakes.

4. ® Mr. Jones said to his son if he would be forgiving his sister for all the mistakes.



Question Number : 156 Question Id : 7532291370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

The French

P: had time to fire three
Q: before the hussars got
R: rounds of grapeshot
S: back to their horses

Options :

1. % QPRS
2. ¥ PRQS
3. % PQRS
4. % SPQR

Question Number : 156 Question Id : 7532291370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

The French

P: had time to fire three
Q: before the hussars got
R: rounds of grapeshot
S: back to their horses

Options :

1. ¥ QPRS
2. ¥ PRQS
3. ¥ PQRS
4. % SPQR



Question Number : 157 Question Id : 7532291371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

The morning

P: was getting hot

Q: by the time they managed
R: to water the mules

S: and fill their canteens

Options :

1. ¥ PQRS
2. % QPSR
3. % QRPS
4. % PSQR

Question Number : 157 Question Id : 7532291371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

The morning

P: was getting hot

Q: by the time they managed
R: to water the mules

S: and fill their canteens

Options :

1. ¥ PQRS
2. % QPSR
3. % QRPS
4. % PSQR

Question Number : 158 Question Id : 7532291372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

A body found buried

P: England has shed new light on

Q: in a ditch by construction workers
R: in the east Midlands of

S: Roman slavery in Britain

Options :

1. # RPQS
2. % SQPR
3. ¥ PRSQ
4. ¥ QRPS

Question Number : 158 Question Id : 7532291372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

A body found buried

P: England has shed new light on

Q: in a ditch by construction workers
R: in the east Midlands of

S: Roman slavery in Britain

Options :

1. # RPQS
2. % SQPR
3. % PRSQ
4. ¥ QRPS

Question Number : 159 Question Id : 7532291373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: And provide opportunities for them to do this alongside their studies.

Q: Universities should look at ways they can address the barriers of cost and time.

R: They could work with schools to look at ways they could help to get people involved in sport when they are younger.
S: It is important for universities to encourage students to take part in sport and physical activity.

Options :

1. # PRSQ
2. % QPRS
3. ¥ SPQR
4. % RPQS

Question Number : 159 Question Id : 7532291373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: And provide opportunities for them to do this alongside their studies.

Q: Universities should look at ways they can address the barriers of cost and time.

R: They could work with schools to look at ways they could help to get people involved in sport when they are younger.
S: It is important for universities to encourage students to take part in sport and physical activity.

Options :

1. % PRSQ
2. % QPRS
3. ¥ SPQR
4. % RPQS

Question Number : 160 Question Id : 7532291374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.



P: His periods of reserve were not constitutional, but the result of moods.

Q: Sitting there beside Mrs. Baroda, his silence melted for the time.

R: Gouvernail was in no sense a diffident man, for he was not a self-conscious one.

S: He talked freely and intimately in a low, hesitating drawl that was not unpleasant to hear.

Options :

1. ¥ RPQS
2. % SPQR
3. # PRQS
4. % QSPR

Question Number : 160 Question Id : 7532291374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: His periods of reserve were not constitutional, but the result of moods.

Q: Sitting there beside Mrs. Baroda, his silence melted for the time.

R: Gouvernail was in no sense a diffident man, for he was not a self-conscious one.

S: He talked freely and intimately in a low, hesitating drawl that was not unpleasant to hear.

Options :
1. ¥ RPQS
2. % SPQR
3. # PRQS
4. % QSPR
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Question Number : 161 Question Id : 7532291375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: With dogs, for example, a wagging tail is not always the sign of a happy dog.

Q: Animals have sophisticated communication systems and we need to learn about these if we are to “hear” what they’re saying.
R: You have to listen for pitch, speed, spacing and volume to work out what they are saying.

S: And a bark can indicate excitement, fear, surprise, frustration and more.

Options :

1. % SPQR
2. ¥ QPSR
3. % QSRP
4. % QSPR



Question Number : 161 Question Id : 7532291375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: With dogs, for example, a wagging tail is not always the sign of a happy dog.

Q: Animals have sophisticated communication systems and we need to learn about these if we are to “hear” what they’re saying.
R: You have to listen for pitch, speed, spacing and volume to work out what they are saying.

S: And a bark can indicate excitement, fear, surprise, frustration and more.

Options :

1. * SPQR
2. ¥ QPSR
3. ®* QSRP
4. % QSPR

Question Number : 162 Question Id : 7532291376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: Demand for electricity is growing faster than the roll-out of renewable energies.

Q: This is leading to a surge in the use of heavily polluting coal and undermining efforts to reach carbon neutrality.
R: Electricity demand is expected to grow by 5 percent this year.

S: This is much more than the 1 percent drop it experienced last year as the global economy tumbled into recession

Options :

1. # RPSQ
2. ¥ PRQS
3. % QPRS
4. % SPRQ

Question Number : 162 Question Id : 7532291376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the given question, four statements are labelled as P, Q, R and S which when logically ordered form a coherent passage. Choose the option that
represents the most logical order.

P: Demand for electricity is growing faster than the roll-out of renewable energies.

Q: This is leading to a surge in the use of heavily polluting coal and undermining efforts to reach carbon neutrality.
R: Electricity demand is expected to grow by 5 percent this year.

S: This is much more than the 1 percent drop it experienced last year as the global economy tumbled into recession

Options :

1. # RPSQ
2. ¥ PRQS
3. % QPRS
4. % SPRQ

Question Number : 163 Question Id : 7532291377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which period in Amercian Literature is known as “Jazz Age”?
Options :

1. % 1890 — 1900

2.9 1920 - 1940

3. % 18301870

4. % 1945 -1960

Question Number : 163 Question Id : 7532291377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which period in Amercian Literature is known as “Jazz Age™?
Options :

1. * 1890 — 1900

2.9 1920 - 1940

3. % 18301870

4. % 1945 — 1960



Question Number : 164 Question Id : 7532291378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a work of William Faulkuer?
Options :

1. # Dry September

2. ¥ A Farewell to Arms

3. % AsILay Dying

4. # Absalom, Absalom!

Question Number : 164 Question Id : 7532291378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a work of William Faulkuer?
Options :

1. * Dry September

2. % A Farewell to Arms

3. # AsILay Dying

4. # Absalom, Absalom!

Question Number : 165 Question Id : 7532291379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many books does John Milton’s “Paradise Lost” contains?
Options :

1. %10

2. % 8

3.% 24

4.9 12

Question Number : 165 Question Id : 7532291379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many books does John Milton’s “Paradise Lost” contains?
Options :

1. % 10

2. % 8

3.% 24

4. 12

Question Number : 166 Question Id : 7532291380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ruskin Bond is an Anglo-Indian author of British descent. Which of the following was his first novel?
Options :

1. % Untouchable

2. % The Room On The Roof

3. % Rusty

4. # A Flight Of Pigeons

Question Number : 166 Question Id : 7532291380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ruskin Bond is an Anglo-Indian author of British descent. Which of the following was his first novel?
Options :

1. ¥ Untouchable

2. % The Room On The Roof

3. % Rusty

4. % A Flight Of Pigeons

Question Number : 167 Question Id : 7532291381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Suitable Boy by Vikram Seth is

o

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. the longest novel in English

2. is a six volume of poetry

3. 1s a work of economical literature

4. is a satirical work

Question Number : 167 Question Id : 7532291381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Suitable Boy by Vikram Seth is ,

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. the longest novel in English

2. is a six volume of poetry

3. is a work of economical literature

4. is a satirical work

Question Number : 168 Question Id : 7532291382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was “Lyrical Ballads” published?
Options :

1. % 1799

2.9 1798

3. % 1802

4. % 1800



Question Number : 168 Question Id
Orientation : Vertical

: 7532291382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
When was “Lyrical Ballads” published?

Options :
1. % 1799
2.9 1798
3. % 1802
4. % 1800

Question Number : 169 Question Id
Orientation : Vertical

: 7532291383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which writer is known to give birth to Detective fiction genre?

Options :

1. % H.P. Lovenaft

2. % Arthur Conan Doyle
3. % Mark Twain

4. ¥ Edgar Allan Poe

Question Number : 169 Question Id
Orientation : Vertical

: 7532291383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which writer is known to give birth to Detective fiction genre?

Options :

1. # H.P. Lovenaft

2. % Arthur Conan Doyle
3. ¥ Mark Twain

4. ¥ Edgar Allan Poe

Question Number : 170 Question Id

: 7532291384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who coined the term “ratiocination”?
Options :

1. # H.G. Wells

2. % D.H. Lawrence

3. % F. Scott Fitzgerald

4. ¥ Edgar Allan Poe

Question Number : 170 Question Id : 7532291384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who coined the term “ratiocination”?
Options :

1. # H.G. Wells

2. % D.H. Lawrence

3. # F. Scott Fitzgerald

4. ¥ Edgar Allan Poe

Question Number : 171 Question Id : 7532291385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following works by Shakespeare is not a comedy?
Options :

1. ¥ Merchant of Venice

2. % Much Ado About Nothing

3. ¥ Macbeth

4. ¥ As You Like It

Question Number : 171 Question Id : 7532291385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following works by Shakespeare is not a comedy?
Options :

1. ¥ Merchant of Venice

2. % Much Ado About Nothing

3. ¥ Macbeth

4. ¥ As You Like It

Question Number : 172 Question Id : 7532291386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following lines and identify the correct author.

Born in modern day Sri Lanka, this writer was a victim of poor mental health but also one of the largest contributor to the Oxford Dictionary.
Options :

1. # William Shakespeare

2. # Dr. James Murray

3. ¥ G B Shaw

4. ¥ Dr. William Chester Minor

Question Number : 172 Question Id : 7532291386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following lines and identify the correct author.

Born in modern day Sri Lanka, this writer was a victim of poor mental health but also one of the largest contributor to the Oxford Dictionary.
Options :

1. # William Shakespeare

2. # Dr. James Murray

3. ¥ G B Shaw

4. ¥ Dr. William Chester Minor

Question Number : 173 Question Id : 7532291387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a work of Robert Frost?
Options :

1. * The Gift Outright.

2. ¥ Ulysses

3. % A Boy’s Will

4. % Fire and Ice

Question Number : 173 Question Id : 7532291387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a work of Robert Frost?
Options :

1. # The Gift Outright.

2. ¥ Ulysses

3. % A Boy’s Will

4. * Fire and Ice

Question Number : 174 Question Id : 7532291388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Et Tu Brute”, a famous phrase from Julius Caesar showcases which emotion of the speaker?
Options :

1. % Affection

2. ¥ Disbelief

3. # Hatred

4. ¥ Sympathetic

Question Number : 174 Question Id : 7532291388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“Et Tu Brute”, a famous phrase from Julius Caesar showcases which emotion of the speaker?



Options :

1. # Affection

2. ¥ Disbelief

3. % Hatred

4. ¥ Sympathetic

Question Number : 175 Question Id : 7532291389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given lines by John Keats are taken from which of the following odes?

“Season of mists and mellow fruitfulness,/ Close bosom-friend of the maturing sun;/ Conspiring with him how to load and bless/ With fruit the
vines that round the thatch — eaves run;”?

Options :

1. % Ode to A Nightingale
2. % Dejection: An Ode
3. ¥ To Autumn

4, % QOde on a Grecian Uru

Question Number : 175 Question Id : 7532291389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given lines by John Keats are taken from which of the following odes?

“Season of mists and mellow fruitfulness,/ Close bosom-friend of the maturing sun;/ Conspiring with him how to load and bless/ With fruit the
vines that round the thatch — eaves run;”?

Options :

1. # Ode to A Nightingale
2. % Dejection: An Ode
3. ¥ To Autumn

4. % Qde on a Grecian Uru

Question Number : 176 Question Id : 7532291390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Henrik Ibsen’s “Ghosts”, Osvald Alving came back to his house from Paris because
Options :

1. # he did not like Paris

2. # to take his mother with him to Paris

3. ¥ to persuade Regina to marry him

4. ® to meet Pastor Mandors

Question Number : 176 Question Id : 7532291390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Henrik Ibsen’s “Ghosts”, Osvald Alving came back to his house from Paris because
Options :

1. # he did not like Paris

2. % to take his mother with him to Paris

3. ¥ to persuade Regina to marry him

4. % to meet Pastor Mandors

Question Number : 177 Question Id : 7532291391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correct chronological order of the following Ibsen’s plays.
Options :

1. ¥ Love’s Comedy ® Peer Gynt ® The Pillars of Society ® Ghosts
2. % Peer Gynt ® Love’s Comedy ® Ghosts ® The Pillars of Society
3. # The Pillars of Society ® Peer Gynt ® Love’s Comedy ® Ghosts
4. ® Love’s Comedy ® The Pillar Society ® Ghosts ® Peer Gynt

Question Number : 177 Question Id : 7532291391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the correct chronological order of the following Ibsen’s plays.
Options :

1. ¥ Love’s Comedy ® Peer Gynt ® The Pillars of Society ® Ghosts
2. % Peer Gynt ® Love’s Comedy ® Ghosts ® The Pillars of Society
3. ® The Pillars of Society ® Peer Gynt ® Love’s Comedy ® Ghosts
4. ® Love’s Comedy ® The Pillar Society ® Ghosts ® Peer Gynt

Question Number : 178 Question Id : 7532291392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the poems written by John Donne?

I. The Canonization

II. The Faerie Queen

II1. The Valediction : Forbidding Mourning
IV. Elegy : To his Mistress Going to Bed

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

l.Iand II

2. 1L, I and IV

3.1l and IV

4.1, II and III

Question Number : 178 Question Id : 7532291392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the poems written by John Donne?

I. The Canonization

II. The Faerie Queen

III. The Valediction : Forbidding Mourning
IV. Elegy : To his Mistress Going to Bed



Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

I.Tand IT

2. 11, IT and IV

3. land IV

4.1, IT and III

Question Number : 179 Question Id : 7532291393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All the world's a stage /And all the men and women merely players. / They have their exits and their entrances, / And one man in his time plays
many parts.
These lines have been taken from?

Options :

1. ¥ As You Like It by Shakespeare

2. % Romeo and Juliet by Shakespeare
3. # Othello by Shakespeare

4. ¥ Macbeth by Shakespeare

Question Number : 179 Question Id : 7532291393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All the world's a stage /And all the men and women merely players. / They have their exits and their entrances, / And one man in his time plays
many parts.
These lines have been taken from?

Options :

1. ¥ As You Like It by Shakespeare

2. ¥ Romeo and Juliet by Shakespeare
3. % Othello by Shakespeare

4. % Macbeth by Shakespeare



Question Number : 180 Question Id : 7532291394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the British Romantic Literature, match the given novels with their author.

[ | Themonk 1 | Sydney Owenson
IT | The Wanderer 2 | Jane Austen
IIT | Emma 3 | Mathew G Lewis

IV | The Wild Irish Girl | 4 | Frances Bumey

Select the correct combination.
Options :

1L®1-2 -3, 11-1,IV—4
2.8 14, 1M-1,11-2,TV-3
3. -3, 114, 11-2,IV—1
4, % T 1,T-2,11-3,IV—4

Question Number : 180 Question Id : 7532291394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the British Romantic Literature, match the given novels with their author.



[ | Themonk 1 | Sydney Owenson
II | The Wanderer 2 | Jane Austen
III | Emma 3 | Mathew G Lewis
IV | The Wild Irish Girl | 4 | Frances Bumey

Select the correct combination.
Options :

L®1-211-3,11-1,IV-4
2.8 14, 11-1,11-2,TV-3
3. -3, 114, 11-2,1IV—1
4, % T 1,11-2,11-3,IV—4
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Question Id : 7532291395 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (181 to 185)

Read the following information carefully and answer the given questions.

Plant-based diets have surged in popularity during the past few years. As a result, there is been a boom in demand for plant-based alternatives to
favourite foods — including meats, such as sausages and burgers. The plant-based meat alternatives industry is projected to see massive growth
over the next few years. But there is still a lot we don’t know about these food products — including whether they are as healthy as some may
think.

Although many of these products claim to be made primarily from plants, they aren’t all that different to other ultra-processed food products.
They often contain many similar ingredients — including protein isolates, emulsifiers, binders and other additives — and are made using industrial
processing methods, so can be considered an ultra-processed food product.

Plenty of evidence links ultra-processed foods to obesity, type 2 diabetes, cancer and other chronic diseases. This is probably due to a
combination of their poor nutritional content, synthetic additives and lack of fibre, which is important for giving a feeling of fullness. These types
of foods are also a reason why poor diet has become the world’s top cause of death from chronic diseases, as they’re readily available, easy to
overeat, lack nutrients and now provide around a half or more of the calories consumed in countries such as the US, UK, Australia and Canada.

Sub questions

Question Number : 181 Question Id : 7532291396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why people are consuming ultra-processed food items?



Options :

1. ¥ These food items are readily available.
2. ® They give a feeling of fullness.

3. # They are very tasty.

4. ® These food items improve digestion.

Question Number : 182 Question Id : 7532291397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following ingredients is NOT present in ultra-processed foods?
Options :

1. # Protein isolates

2. ®% Emulsifiers

3. % Binders

4. ¥ Soy Protein

Question Number : 183 Question Id : 7532291398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, all the given statements are correct EXCEPT:

Options :

1. # Ultra-processed foods have poor nutritional content.

2. % Plant-based products and ultra-processed foods share many similar ingredients.
3. ® Ultra-processed foods can cause type 2 diabetes.

4. ¥ Popularity of plant-based diet is decreasing day by day.

Question Number : 184 Question Id : 7532291399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the word ‘massive’ as used in the passage.
Options :

1. #® Leverage

2. ¥ Enormous



3. % Trivial
4. % Modest

Question Number : 185 Question Id : 7532291400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. * Why we eat junk food?

2. # Poor diet and its consequences

3. % Plant-based diet: Healthy or not

4. % Advantages of ultra-processed food

Question Id : 7532291395 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (181 to 185)

Read the following information carefully and answer the given questions.

Plant-based diets have surged in popularity during the past few years. As a result, there is been a boom in demand for plant-based alternatives to
favourite foods — including meats, such as sausages and burgers. The plant-based meat alternatives industry is projected to see massive growth
over the next few years. But there is still a lot we don’t know about these food products — including whether they are as healthy as some may
think.

Although many of these products claim to be made primarily from plants, they aren’t all that different to other ultra-processed food products.
They often contain many similar ingredients — including protein isolates, emulsifiers, binders and other additives — and are made using industrial
processing methods, so can be considered an ultra-processed food product.

Plenty of evidence links ultra-processed foods to obesity, type 2 diabetes, cancer and other chronic diseases. This is probably due to a
combination of their poor nutritional content, synthetic additives and lack of fibre, which is important for giving a feeling of fullness. These types
of foods are also a reason why poor diet has become the world’s top cause of death from chronic diseases, as they’re readily available, easy to
overeat, lack nutrients and now provide around a half or more of the calories consumed in countries such as the US, UK, Australia and Canada.

Sub questions

Question Number : 181 Question Id : 7532291396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why people are consuming ultra-processed food items?



Options :

1. ¥ These food items are readily available.
2. ® They give a feeling of fullness.

3. # They are very tasty.

4. ® These food items improve digestion.

Question Number : 182 Question Id : 7532291397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following ingredients is NOT present in ultra-processed foods?
Options :

1. # Protein isolates

2. ®% Emulsifiers

3. % Binders

4. ¥ Soy Protein

Question Number : 183 Question Id : 7532291398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, all the given statements are correct EXCEPT:

Options :

1. # Ultra-processed foods have poor nutritional content.

2. % Plant-based products and ultra-processed foods share many similar ingredients.
3. ® Ultra-processed foods can cause type 2 diabetes.

4. ¥ Popularity of plant-based diet is decreasing day by day.

Question Number : 184 Question Id : 7532291399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the word ‘massive’ as used in the passage.
Options :

1. #® Leverage

2. ¥ Enormous



3. % Trivial
4. % Modest

Question Number : 185 Question Id : 7532291400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. * Why we eat junk food?

2. # Poor diet and its consequences

3. % Plant-based diet: Healthy or not

4. % Advantages of ultra-processed food

Sub-Section Number : 2
Sub-Section Id : 75322991
Question Shuffling Allowed : Yes

Question Id : 7532291401 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (186 to 190)

Read the following information carefully and answer the given questions.

Deforestation and climate change are altering the Amazon rainforest's ability to soak up carbon, according to a new study. Significant parts of the
world's largest tropical forest have started to emit more CO, than they absorb. The southeast is worst-affected, say, scientists, with higher rates of

tree loss and an increasing number of fires. Temperatures there have risen by three times the global average during the hottest months.
Areas of our planet that absorb more carbon from the atmosphere - for example, in the form of the greenhouse gas CO, - than they store are

known as sinks. The role played by the lands and forests of the Earth in soaking up carbon has been a critical factor in preventing faster rates of
climate change. Since the 1960s, these sinks have taken in around 25 percent of carbon emissions from the use of fossil fuels. The Amazon, home
to the world's largest tropical forest, has (A) a key role in absorbing and storing much of that carbon. But the growing impacts of
climate change and deforestation are taking their toll on this crucial CO, sponge.

Earlier this year, a study showed that the rainforest in Brazil released about 20 percent more CO, into the atmosphere than it took in over the

period from 2010-2019. The researchers are worried that the changing climate is also interfering with rainfall, which they argue, has immediate
consequences for Brazil. "This is very bad news for everybody but mainly for Brazil," said Dr Gatti.

Sub questions



Question Number : 186 Question Id : 7532291402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given passage mainly talks about:

Options :

1. # Deforestation and its negative impact on fauna.
2. ¥ Climate change in the Amazon regions.

3. % Wildlife present in the Amazon forest.

4. % Lack of precipitation in Brazil.

Question Number : 187 Question Id : 7532291403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given passage, Dr. Gatti is referring to which bad news?
Options :

1. ¥ The impact of climate change on rainfall in Brazil.

2. # Excessive deforestation in the southeast region of the Amazon.
3. # Increasing number of bushfires in the tropical forest of Brazil.

4. ® Inability of flora to absorb CO, from the atmosphere.

Question Number : 188 Question Id : 7532291404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, all the given statements are correct EXCEPT:

Options :

1. #® Climate change is dependent on the number of trees in a region.

2. % The southeast part of the Amazon rain forest is worst-affected due to climate change.

3. ¥ Before 2010, the rainforest in Brazil released no CO, into the atmosphere.

4. % The potential of Amazon rainforest to soak up carbon dioxide is decreasing.

Question Number : 189 Question Id : 7532291405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the word that means the same as the word ‘crucial’ as used in the passage.
Options :

1. # Minor

2. ¥ Pivotal

3. ®* Fleeting

4. % Scarce

Question Number : 190 Question Id : 7532291406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the context of the passage, which of the following words can be placed in the blank (A)?
Options :

1. * balanced

2. * regulated

3. * defined

4. ¥ played

Question Id : 7532291401 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (186 to 190)

Read the following information carefully and answer the given questions.

Deforestation and climate change are altering the Amazon rainforest's ability to soak up carbon, according to a new study. Significant parts of the
world's largest tropical forest have started to emit more CO, than they absorb. The southeast is worst-affected, say, scientists, with higher rates of

tree loss and an increasing number of fires. Temperatures there have risen by three times the global average during the hottest months.
Areas of our planet that absorb more carbon from the atmosphere - for example, in the form of the greenhouse gas CO, - than they store are

known as sinks. The role played by the lands and forests of the Earth in soaking up carbon has been a critical factor in preventing faster rates of
climate change. Since the 1960s, these sinks have taken in around 25 percent of carbon emissions from the use of fossil fuels. The Amazon, home
to the world's largest tropical forest, has (A) a key role in absorbing and storing much of that carbon. But the growing impacts of
climate change and deforestation are taking their toll on this crucial CO, sponge.

Earlier this year, a study showed that the rainforest in Brazil released about 20 percent more CO, into the atmosphere than it took in over the
period from 2010-2019. The researchers are worried that the changing climate is also interfering with rainfall, which they argue, has immediate
consequences for Brazil. "This is very bad news for everybody but mainly for Brazil," said Dr Gatti.

Sub questions



Question Number : 186 Question Id : 7532291402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given passage mainly talks about:

Options :

1. # Deforestation and its negative impact on fauna.
2. ¥ Climate change in the Amazon regions.

3. # Wildlife present in the Amazon forest.

4. ® Lack of precipitation in Brazil.

Question Number : 187 Question Id : 7532291403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given passage, Dr. Gatti is referring to which bad news?
Options :

1. ¥ The impact of climate change on rainfall in Brazil.

2. # Excessive deforestation in the southeast region of the Amazon.
3. # Increasing number of bushfires in the tropical forest of Brazil.

4. % Inability of flora to absorb CO, from the atmosphere.

Question Number : 188 Question Id : 7532291404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, all the given statements are correct EXCEPT:

Options :

1. ® Climate change is dependent on the number of trees in a region.

2. # The southeast part of the Amazon rain forest is worst-affected due to climate change.

3. ¢ Before 2010, the rainforest in Brazil released no CO, into the atmosphere.

4. # The potential of Amazon rainforest to soak up carbon dioxide is decreasing.

Question Number : 189 Question Id : 7532291405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the word ‘crucial’ as used in the passage.
Options :

1. ® Minor

2. ¥ Pivotal

3. ® Fleeting

4. % Scarce

Question Number : 190 Question Id : 7532291406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the context of the passage, which of the following words can be placed in the blank (A)?
Options :

1. # balanced

2. # regulated

3. ® defined
4. ¥ played
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Question Number : 191 Question Id : 7532291407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Beliefs and assumptions about influence the actual teaching learning processes and practices.

I. modes of evaluation
II. role of teachers

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 191 Question Id : 7532291407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % FHadl
2. % Had Il
3. ¢ [ QYT I gl
4. % 1B

Question Number : 192 Question Id : 7532291408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT correct about Growth?
Options :

1. # Growth refers to physical changes

2. # Growth stops with maturity

3. ¥ Growth is not totally observable and measurable

4. % A part of development is growth

Question Number : 192 Question Id : 7532291408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fS & IR B FAfaRad § 3 & 91 53 981 a1 82
Options :

1. % gig IRIRS uRad-! 9 efid

2. % gfg URUSHAT $ Y b oIl &

3. ¢ gfg O ORE ¥ Sfaciiep T 3R /IO 17 T8t 3
4. % gig, AP &1 TH i g

Question Number : 193 Question Id : 7532291409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. The idea of providing quality education by valuing the individual need in a group as a unit is called as inclusive education.
II. Inclusion is about building the inner strength and mounting confidence among children.



Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 193 Question Id : 7532291409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 By I8 82
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Options :

1. % Had 1

2. % HAd Il

3. ¢ 1 UGl
4. % AT I

Question Number : 194 Question Id : 7532291410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Society thinks that certain types of work are meant to be done by males only and certain other by females only.” Which of the following
statement satisfies this given statement?

I. We rarely see women tilling a land using a plough.
II. We rarely see males washing clothes of children and other family members.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II



Question Number : 194 Question Id : 7532291410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % dhad [
2. % HAd Il
3. QYT 11 gl
4. % AT I

Question Number : 195 Question Id : 7532291411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Make room for shared experiences.” Which of the following statement is correct regarding the given statement?

I. They are an invaluable source of language work.
II. They create an atmosphere of involvement and togetherness.

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 195 Question Id : 7532291411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. % HAdII
3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 196 Question Id : 7532291412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An artist uses paper, canvas, clay, metal, paint etc. which can be moulded or transformed to create some physical or art object. Which of the
following are those physical or art objects?

I. Drawing
II. Painting
II1. Sculpture
IV. Design

Options :

1. # II, Il and IV
2.¥ 11, Il and IV
3. % I, Il and III

4. % I, and IV

Question Number : 196 Question Id : 7532291412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1% IL I daT IV
2. LILITdYT IV
3.% [ I dYUTIII

4. % [ 11dUTIV

Question Number : 197 Question Id : 7532291413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following ways of looking at language restrict the versatility of language and its usage?

I. Language only as a means of communication.
II. Language as a pairing of a grammar and a dictionary.

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 197 Question Id : 7532291413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIST 1 3R T T Fffad H I o1 91 diceT HIWT B UfaHT 3R ITb U B Ufasiad Hrdl 82
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Options :

1. % PHadl
2. % Had Il
3. 1AUT ISl
4. % 1B




Question Number : 198 Question Id : 7532291414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the approaches to Learning and Teaching?

I. Competency — Based Approach
II. Subject — Centered Approach
ITI. Constructivist Approach

IV. Learner — Centered Approach

Options :

1. ® Il and IV
2.% LI Il and IV
3. % Tand II

4. % I, Il and IV

Question Number : 198 Question Id : 7532291414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® [[TUTIV

2.9 LI, L 94T IV

3.% 1Y 11

4. % 11, NI dYT1v

Question Number : 199 Question Id : 7532291415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
While thinking about the marks and grades several questions may come to the mind of a teacher. Which of the following are those questions?



I. Do they tell anything about the extent and pace of learning?

II. Do they provide information on the areas of strength and weakness of the student in learning?
III. Do they indicate about the difficulties a student is facing during learning?

Options :

1. # II and III
2. % 1, Il and 11T
3. % Only II

4. % Jand 11

Question Number : 199 Question Id : 7532291415 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Options :
1. % I1dYUTIII
2. [ 11 dYTIII

3. % Had II
4. % QYT

Question Number : 200 Question Id : 7532291416 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination is correct?

I. Assessment for learning — Summative
II. Assessment of Learning — Formative

Options :
1. % Only I

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



2. % Only II
3. ®* BothIand II
4. « Neither [ nor 11

Question Number : 200 Question Id : 7532291416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed & 9 o 91 gae- 98t 82

1. 31 & o e ad - Ihadid®
1. SHTETH BT 3 — oIS
Options :

1. % Had |
2. % Had Il
3. % [ UGl
4. TIRIIATR I




